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The Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars on OFFICE Copy
carefully with blue/black ball point pen only.

' The test-is of 8 hours duration and the Test Booklet

contains 200 multiple-choice questions (four options

with a single correct answer) from Physics, Chemistry

and Biology (Botany and Zoology). 50 questions in

each subject are divided into two Sections (A and B)

as per details given below :

(a) Section A shall consist of 35 (Thirty-five) Questions
in each subject (Question Nos — 1 to 35,
51 to 85, 101 to 135 and 151 to 185). All questions
are compulsory.

(b) Section B shall consist of 15 (Fifteen) questions in

each subject (Question Nos — 36 to 50, 86 to 100, 136
to 150 and 186 to 200). In Section B, a candidate
needs to attempt any 10 (Ten) questions out of 15
(Fifteen) in each subject.
Candidates are advised to read all 15 questions
in each subject of Section B before they start
attempting the question paper. In the event of a
candidate attempting more than ten questions, the
first ten questions answered by the candidate
shall be evaluated.

Each question carries 4 marks. For each correct response,

the candidate will get 4 marks. For each incorrect

response, one mark will be deducted from the total

scores. The maximum marks are 720.
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1.

T -
fo) QYL
5 (2 ﬁ\6 ¥\
w7 TTHTT - A ( aiiferent ) ?) Section - A (Physics)
. . -~ 1|
feu 73 Harem # 9 it @ P \Q A 1. The equivalent capacitance of the combination
Cl O S shown in the figure is :
' | b
= L N N
() — N\\d Q/
@ C2 -/\ Cl
2 3C/2
3 30 AT _A O | RS
@ 2C WSS S i o) e
N 3 3
Wqﬂawwm%mﬁwﬁ%mm 2
L3l ﬂTﬁ% il Rt SAE: 2. Ascrew gauge gives the following wen
o il ) =4 used to measure the diameter of a wire
ERIR T T ESHF = 52 @H Main scale reading : 0 m
e T © o e S w1 foefiier, g tmmm Circular scale reading : 52 divisions
% 100 @I & HTT BT &1 ST feu T Yeroh @ Given that 1 mm on main scale corresponds to
TR T § - 100 divisions on the circular ular scale. The diameter
O 026 Iﬁ \ of the wire from the above datais :
@)  0.052 9.1 S-?_ K 3o
3  0.52 "
) 0.026 9.7 4)  0.026cm
s feawafeEa Tifvys %X Tq: fasfeq gar & | 3. A radioactive nucleus ‘%X undergoes spontaneous
AX B C D %9 4 w7 7 decay in the sequence
_)
g e 22 AX——) B (=SS D, where Z is the
xmmm%lmﬁﬁaﬁamm% ZelS iz S 72
atomlc number of element X. The possible decay
1 I l3+ B- art esmthe sequence are :
a @7 R { "3
+ P QP
& o p b @ boa o R
@ o« B*, BT 8; %, E+’E— Y\e_ =
f A [,_ Qa, )
§:$ : 1 W;E: aﬁaﬁgﬁm %mi_{ 4. The electron concentration in an n-type

fered &= T e 81 21§ U % ST #
1 Fifora |

(1) n-2EYH YR > p-2RY H 4

2 p-=EY # FE UM yAed T A, FHad
n-21g9 # Y1 yafed 2

(3) n-2BYH YN=p-2BY H YW

(4) p-2EYH ¥R > n-26Y H U g

UM o, HH YR HE & AEhel 941 TaH
werel & GERR FH H 9 WX a1 e Wi
0.25 3™ &1 3fg 37 At %7 | Sie faan s, &
gﬂlaﬁmﬂwm?

Q 13 Q Zg

semiconductor is the same as hole concentration

in a p-type semiconductor. An external field
("Iectnc) 18 apphed across each of them. Gempare

No current will flow in p ty'pe current will
only flow in n-type.

current in n-type = current in p-type.
current in p-type > current in n-type.

6)
1)

The eﬁ'ectivi gsistance of a parallel connection that

consists o ires of equal Lta_rl_gg, equal area of
cross-section and same material is 0.25 Q. What
will be the effective resistance if they are connected
in serles 7

(1)

25Q
0.5 ()

@

@ 43 QAN

@)  0.253H Yo

@ 053 SN,
-/86—r
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; T
8 ; 600 " Tee a1ty s VﬁL/e/ The number of photons per segéndglgar,l_a}_f_e,@—g—etj
mmﬁh‘ﬁlﬂﬁm#ﬁmﬁ;g 3% 10-3 emitted by the source of monochromatic light Of
e Afea Ieafslq @R ' Wavelength 600 nm, when it delivers the power ©
i 3.3x 1073 watt will be; (h=6.6x 1034 Js)
(h=6.6x 1031312 4 att will be K%
] %11 16 — Goo
1 106 1015 e P ) =6 29
2 10% -
@ 1015 @ S Pt 3-NO
® 1018 & . 10" 4
4 1017
@ 107 @ Re
= /A body is executing simple harmonic motion with
T TF 0 i A e s i gl TR | frequency ‘n’, the frequency of its potential energy
fearfost st =t SIC IR s
@) 3n 1 38n
@  4n @ 4n
B n
4 2n
8. WWW%WWWW ‘N qoeed wi | 8. An electromagnetic wave of waveleg_gth.‘)\.’ is
TH ﬁgaﬁ'laaﬁq T Afaa et 81 afs 99e 9 incident on a photosensitive surface of negligible
R e o } e work function. If ‘m’ mass is of n
& ?ﬁm o H - emitted from the surface has de-Broglie wavelength
Ag B @l : Ag> then: .
_(2mc) o e X
® A= T o A=(ZEhE
_(2h) o 2h)
@ M= ;c)’\d @) x=(;c}\d
® he ®3) —(h—c) d
2mce ) o o
A =( .jx e _csz
@ SN SE @ M ( B
9. faumm@®n (t=0) ¥ T 3 = (e Tagmas 99 | 9

F AR faEFa T 3 A t=n—1Vt=n F 9

S
e g el T gd S B, @ S ’11 1 ST B :
n
2n+1
O Zn0
2n
@ on1
2n—1
© 2n
. fonea, <
CY)

A small block slides  down on a smooth inclined
plane, starting from rest at time t=0. Let S, be
the distance travelled by the block in the in

terval
S
t=n—1tot=n. Then, the ratio ——— is :
n+1
2n+1
@ 2n—1
2n
@ 2n—1
2n—i
3
©) 2n

2n+1
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10.

g

12.

13.

4
T om'3 B
WS- R -1I T ﬂﬁf‘aﬂ m e 7 feu Match Column - I and Column - IT ang chy
T faeai 9 e 'ﬁﬁfﬂ?{ N m : n the correct match from the given choices )
e Column -1 Column -]
-1 W - 11 L
@A) T\®H U P) lnm52 (A)  Root mean square (P) %nm;&
1 |1 e AT : speed of gas molecules
3 RT
® et i g s < @ 3RT (B) Pressure exerted Q) TvE
‘ M by ideal gas
(C) ST 3fa Tifast o= ®) ERT (C) Average kineticenergy (R) ERT
2 of a molecule
3
O 17w T 9 & () '2'kBT (D) Totalinternal energy (S ngT
T ST et : of 1 mole of a
M @-@.B)- @) ©)-(S),D)-® diatoricens
@ A)-®),®B)-(@Q),(©C)- @), D)-(S) _
@ A)-®),®B)-@),(©C)-(S), D) -@
@ (3)-@,®B)-®),(©)-(S),D)- @) @  @-®),6)-@Q,(0):F®),D)-)
' : ® A-®),®B-@),©C)-(6),MDM- (@
T ST e ¢ § @ « (A)-(Q),B)-®),(©C)-(S),D)-(P)
(1) N fgsa ST haet qut W L, S R
&1 STferd B 7 | : . 3 )A’olar molecules are the molecules .
v (1)  acquire a dipole moment only when magne!
g; i gmﬁg _;;?U;?m ¥ field is absent. ~ P
@ feregd gl ﬂ? safeerd o & foy W AT (3)  having zero dipole moment.
T &, ST o fereem & FR (4)  acquire a dipole moment only in the presen
A of electric field due to displacement
frefafad wmemt (A) 41 (B) W faam Fif qen 4/ charges.
w39 &1 faf=d wife
A) TF S SIS IHA AR H qe ¥ Sy L Sggi‘(li‘i?:htflﬁ ﬁzlg;;g_c—:_&m Ll il (A) and (
n aﬁﬁm 9’3:??“ b e (A) A zener diode is connected in reverse bid
B) p-n W FT AW ¥ DARRISS G when used as a voltage regulator.
0.3 e % o= & €| (B) The potential barrier of p-n junction I
(1) (A) 4 & W (B) e € between 0.1Vto0.3V.
@ (A) e T = (B) T4 Al (1)  (A)1iscorrect and (B) is incorrect.
@ 2 (A) 791 (B) T T L& (A)isincorrect but (B) is correct.
@ 2 (A) 79 (B) e €| m
: an oth are incorrect.
e foiT 10 =32 % ot @ 5 A, fewf @it ) S ab
o f. 171, T H TEY TRl T e T 13" A spring is stretched by 5 cm by a force 10 N. I
; amd: T ET time period of the oscillations when a mass of2
SR . K 18 suspended by it 18
1) 3.14 4TS q (1) 8.14s w= SCm |
@  0.628 ¥HUS 2K 5@ 2 06288 F = toty |
3) 0.0628'@7:1?"'?':(’E \« g__t B 0.0628s ™ ) t‘-‘t‘) : :
4) 6.289FHS a4 @ 6.28s 2 8
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14.

15.

16.

17.

18.

@ gMg
@ 2Mg
M
G =
@ Mg T e
e e I G0 A e AE A
aqﬁmqga ¥ fou HAAfEH ST e €, Fih ¢/
() T e g T e 5 R A
FA 2 s
@) o et e b AT I =
mmmz’m%l
) e e e 3 AN FT R
(9 SHEFATN

e é DONVARERVICE
EL

5
RIC [F], =R [A] 9o 5oy [T] % g&=1 W@H force [F], acceleration [A]

eIt = feram s, @ St = foren 3 A

O [F1[A][T-1

@  [F][A-1][T] R EN <
@ [F1[A][T] g -
@  [F][A][T2] /PT

UF T H T F o 15 femd w1 w3
60 . %91 W/ I e 1 wror 3 o wfsE

7 Water falls from a height of 60 m at the rate of
Trarett o=t 10 Sfaera =t &7 8t &1 mé;gm//w kg/s to operate a turbi_ne.f'ﬁle_lgsses.dge to

™ \i‘\" &
—/_/—":"’/:7

and time [T] are

chosen as the fundamental physicm
R

“F‘iPn_d the dimensions ow
‘() [F1[A][T-] _
R -¢

MmUY X \f\‘x A

04

E= ®

@

[FI[A-1][T]

fehet wifer Seq=1 =t st 22 frictional force are 10% of the input energy. How
(g=10T./3.2) much power is generated by the turbine ?
o = 15X 1o x|, o\ E= 102/ -
O 123 fFdER G- : __>(1) W p= =
l < . —
2 7.0 feheiErE 1Q @ T0kW >
(3) 1'0.21‘35‘?[3"? BO = (3) 10.2 kW
@ 8.1 TFcmER & 8.1kW

U 240 ZAYH GE&AT H1 A0F, TAF FTHE FE&AT
120 ¥ 2@ @vel  Zear €1 sm@fed qu @fea
Fifast &1 awyA Fw 9fa Ffears sEwm:

7.6 BEeERTA aiee (MeV) T 8.5 HEgetagi dlee |
(MeV) £ W& H el W S et erdl & :

1) 804 AEER dice

@ 216 WMEeiEg dlee

@) 0.9 AR dlee

@) 9.4 HEAERI dlee

Mawmwaawﬁwﬁ?wanﬁmﬁ
Y T T =T T FP WA 9GS A S € | A

ﬁaaﬁ?wm%ﬁ,'cﬁﬁzmmﬁwmm
B

A nucleus with mass number 240 breaks into two
fragments each of mass numgqr 120, the binding —

energy per nucleon of unfragmented nuclei is"
7.6 MeV while thatof fragments is 8.5 MeV. The
~~Total gain in the Binding Energy in the processis ;
(1) 804MeV

16.

0.9 MeV
9.4 MeV

®3)
@

The velocity of a small ball of mass M and density
d, when dropped in a container filled with glycerine

~ becomes constant after some time. If the densit;
FhegmencRane C T

147

of glycerine is il_ , then the viscous force acting on

m beZ:
jroelba W) e

(6)) gMg

@ 2Mg

R

4 Mg
/( A lens of large focal length and large aperture is

Ao
w~ Xe

best suited as an objective of an astronomical
. —__—————'_’_’— e ————
teléscope since :
e 4 ;
(1)  alarge aperture contributes to the quality
and visibility of the images.
\/(2) a large area of the objective ensures better
light gathering power.
(3)  alarge aperture providesa better resolution.
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19.  x-T<3n o Hufid v aoae f%rga graﬁa T+ fﬁ@ For a plane electromagnetic wave Propagy
Freferfan seem § & i = e foga & (&) direction, which one of the following conyy
o 5 ®) = T ﬁ'{‘x’l’l S gives the correct possible directions fo, eledL
3% 3 ) Uk Tafd field (E) and magnetic field (B) respective]y ?q
™ ) A LA A A
1 A AL A A Op ek, —j—k
Itk =j—k A | A A A A
. )a/A @G 0 < |
@ g Gy SN Ly %
i —
A A A A S
@) j+k, j+k /N N ZBAE
@Gl
R =y kg 20. ) The half-life of a radioactive nuclide is 100 ho,
20. % fedmiEa e Foenfery 100 w2 #) Zf};:r'f—‘l—%‘gf:u‘i ‘:"%‘;’:l’(‘i";f_cti"gl that will ren,
1503%%:3139@?%31%131@%@ E= % B
9T BT T =lo0
| o (Y3
2 =ToRR) ® = D
S af = 3
/ 3 6 (8} (“\
N ; . : N
N 20 gty =3b © —
O ) =75 (3!.93 AN Py \¢ 3v2
<t @ 12 4 o @ 12
SO L
S\ @ 3 NG
21. U= favysamd 9fuy ¥ 1.5 92 faans. &t & 99
N 3 fﬁfﬂﬁ 21. Inapotentiometer circuit a cell of EMF 1.5 V gix
T -{Tzﬁ' T H A ﬁi UL balance point at 36 cm length of wire. If anott
2.5 angﬁ.ar.a. a@wﬁﬁa%&ﬁ@aaﬁuﬁwﬁa cell of EMF 2.5 V replaces the first cell, then
FHA €, d 98 & HE d=EE W Hdferd fag g what length of the wire, the balance point occur
Zrm 2 (1)  64cm
(1) 649 @ 62cm
@ 629 3  60cm
3 60 F. 4 21.6cm
@) 2169
. ?:Fq‘ e qu{Z 3 00°C & 80°C TF 3 At %' 22.  Acup of coffee cools from 90°C to 80°C in t minuté

& HHL 1A 20°C & | 3H FHHL & a9 9 G 7@
% &9 J FIF H1 80°C H 60°C T 3-8l A § qHY
o BN

o Tt
@ %t
®) i—g’-t
@ %

when the room temperature is 20°C. The ti?
taken by a similar cup of coffee to cool from 80
to 60°C at a room temperature same at 20°C i

10

: (l) Et
5

2 ﬁt
13

3) Et

QD
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23.

A E T G I S qen e fadis
‘Jﬁﬁhm%ﬁt%ﬁﬁmz’m%: 4

O [M][L9 [T

@ M3 [L-2][T-

@  [M2)[L-1[T

@  [M][L-1[T-] '

T R 55 &t 9t urerdt faa o ¢ sm
HAI FHE ] I9H w9 4 foaafia &1 Faer 7w
TERE & B(r) F 9fad Hoe @w F ¢ 5 F
T wefviq faran s @ :

i AT L
Al S 12T
— M‘Et

(2) B ke

® B kil

@ B kil

r 2

T U geEt e 9 S HAE & e 9w v F

o SeTE TR SH] TS Sosil gHet fefst St b |

e T BT & 1 T & U B ges e & S q
Wﬁﬂa@?ﬁ%

7 04

2 If E and G respectively denote gnergy and

gra—;itational constant, then E has thw
of : \_G_)
(D [M%[L"] [zTO]

_1]
!4) [M][L"I][T“ll

A thick current carrying cable of radius ‘R’ carries
current I’ uniformly distributed across its
cross-section. The variation of magnetic field B(r)
due to the cable with the distance ‘" from the axis

of the cable is represe :

P

I

@ B
r—b

f

@ B
Tt

f

@ B
T

25. A particle is released from height S from the
surface of the Earth. At a certain height its kinetic
energy is three times its potential energy. The
height from the surface of earth and the speed of

the particle at that instant are respectively :

‘" B y3eS
37 2

o 5 £E
DX D
S [38S
@ Ty
S 3eS
w 50
)
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26.

27.

28.

8

fe@m ™ sHd T ¥ e § 5 v F oy
yarfed €l 1 A & gHR U@ saaei
10° W/Q. % =16 | T ¥ ¥ | U &0 W TeraRi
QN =METh & W= T g 20 A, ¥ IH W
TR B SV R I ) W & qRE
UL HifSu |

Electron v=10°5 m/s

20 cm

!

P 5A Q
1  4wx10-20=qeq
@) 8x10-20=geH
@) 4x10-20=gq
4 8wx10~20=peq
R, TR, 5o 3 2 ST et <o T R | |

ST &Y S €1 7Medi % I8 ST S (o /ory) F
FIE B R ;

R Q/
@ (Eﬂ > - D
R? o
@ = N
Ry - AR ¢
oy R:
(3) R2 d/\ -(// T \
Ry {57/
@ R

fisq | ffa 101 &% 9F #1 Ja Hifea ) W\E}
uadAF V3 B

9y

(
e, % st - (0%

Z,\/sm.s = NSy
= oidHes

= 60° Qe _L

1) 45°

e

4 30

26.

e

o
R

An infinitely long straight conductgy &
current of 5 A as shown. An electyoy, i \
with a speed of 10° m/s parallel to the Cong

The perpendicular distance between t},
and the conductor is 20 cm gt ay
Calculate the magnitude of the force exp

e e[E
ins
en

by the electron at that instant.

Electron v=105

20 cm

|

m/s ‘-\>S%

f NER L

\

P 5A Q
(1)  4wx10-20N

(8) 4x10-20N

v,;d\,\l BS‘

8wx 1020 N

Two charged spherical conductors of radius R

R, are connected by a wire. Then the ra

‘surface charge densities of the spheres | (oo
- = S~

Find the value of the angle of emergence fron
prism. Refractive index of the glass is V3.

m| 60°
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29. fowm M o3 ¥ SR ©F L ww w1 s, | 29.
C W@ 1 &1 den wh R’ wfedwr a1 wfe
V' diee faver & yemEdt S g Uit HH W S € |
L, C, R W fawar<w & 40 a2, 10 9o aon
40 91w 1 LCR vt uftyy & warfeq o
10v2 TfaeR ® 1 wftgy & wfiamn &
F—AAMA—
40V—><«—10V—«—40V—
=)
&)/
V Ll
1 43m Q\]é
@ 53m O BKS
® 4z YT O
@ 52 W ‘\Q/Q( 30:
30. W - | UIEE 9o § Yaled U ¥ FEiEd $9
difee 927 == a1 €1 W - 1 9
gy T faega vfvrr sfmfed 2§, i == S
T W - [ T - 11§ 9E 9 5N gRfed
aﬁﬁm:
- 1 e - 11
i m
@) TS (I
® fogda gfausar @ meyy
< eE
© gFaFE ® 7
E
D) HRETE S 3 2«
1) A)-®),B)-P),(C)-S),D)-Q) 4& ?{
@ (A)-®),B)-Q.©)-®),D)-P) ¥
3 (A-®), B)-S),(C)-P),[D)-(Q) 31
@ A)-®),®B)-S),©)-(Q),D)-P)
31. fasmger uF faya faem &= 4 @ s 21 7e fe
fegn & nifq =am ?
.4
(--'. ..... S )E’
+q —q
R
(1) St e i sgeht feafast i He |
@ < o it saet feafas s se |
@) it o it gaeh feafast S ae |
@ e o i s feafas S e |

——

04

An inductor of inductance L, a capacitor of
capacitance C and a resistor of resistance ‘R’ are
connected in series to an ac source of potential
difference V'’ volts as shown in figure.

Potential difference across L, C and R is 40-V,
10 V and 40 V, respectively. The amglitude Qf
current flowing through LCR series circuit 18

1042 A. T@wnce of the circuit is :
F—AWV—

40V —><10 V—>¢-40V.>

@)
NG/
VvV
4.0
@ 50
@  4v2 0 E
@ 5N20
Column - I gives certain physical terms agsociated
with flow of current through a metallic conductor.
Column - IT gives some mathematical relations
involving electrical quantities. Match

Column - I and Column - IT with appropriate
relations.

Column -1

o
@

Column -1I1I

@) ®) 2

®)
©

Electrical Resistivit ()
e TT——————

Relaxation Period

(D) , Current Density g—) (S)
i AR, BHP) ©)-(S), D)-(QY
( -(R > '((C))-

)
: (S), (D).
(3) 5 ) g /5 \\- ;»\J@)g.‘é%'
)-), (O)-(Q), (D)-(P

—————e

S AY dipole is placed in an electric field as shown. In

which direction will it move ?

towards the left ag j : :
HER o auh s its potential energy wil]

towards the right as its potential energy wil]
Increase, -

to
in

Wards the left as its potential energy wi]]
Crease,
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32.

35.

k«l’

@mﬁzaﬁa%ﬁa%ﬁam
ﬁ'ﬂﬁﬁiztlaﬁﬁ?}%ﬁaaﬁ@d’mm

T F TR A’ A A wim T uste ==
% : (eo=F1aa %t Torefin

<
EeoEzAd -& Q} _E_

E2Ad
€0

@D

@

1 =9

g EAd

3)
@

TH T F AT @RS 20 34 w=aSh
F 3T o9 A’ T 5 . BE o =1 FEaT
T B W T AR A R e TR SN T
BIfsoiwRd TR sad@ @
i A

QEzAd
e
L. o
S

@ eEAd

A convex lens A’ offncal kength Wom =nd 2o
lens B of focal length 5 cm are k=pt 2l
Same axis with a distance ‘@ between t5en.
parallel beam of ight Silling on ‘A’ kezvwesT
parallel beam then the distance Tine=wd

®» 30 'Zf. @ 50
- ’(ﬁ./ . ® 3
® L3 (e

@ 15 \'8 % 6/;‘{ 3

Y| Hoe & TOET 39 v T TEF 5599 T adly,

TE T U S SR I a0 g e S 9o 9

The escape velocity from the Egrth's s
The escape velocity from the surfsce of ==
planethavmgaradnsﬁ)urnme:thmcii

‘&'ﬂiﬁl%;. e = ' ‘and same mass density is:
1 3v AV J1L @ 3o N OLJ::\
@ g == | e ¢
® v xy @ o
(4) 2v '\lz':. =\ 2v
& ~ - - 2

feu T3 eI areedl B V=V, sinwt ¥ ‘C’ SR ;ﬁﬁu‘;ﬁ“ﬁ:—{‘ﬂ 8.;2;@’
1 T HIA I & » e V, given by

4 f@ﬁfﬁam N Y5 Vo thmast
Siteica : ﬂmﬁ"ﬁ/, ~ec The disola 7 !

Vo . i;’é/ the capacitor, would then be given by :
(1) Id:;—ésmmt ) s é&_ »
Q Id=E°sinst
e Qb '_,Q/l‘,=vqucsimt
@ Iy=V,uCcosat 9N R
3D
N0z b -
@ Pl ; @  la=—Zoosat
~J
/‘Q'

[
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36. ﬁﬁnﬁvﬁwﬁ,ﬁé&ﬁﬁaﬁmmfaﬁA,Bw

;;‘Wmﬁlﬁ%l fat y w frfa farrer @
?

by bty tg by ty tg
A
B E | 4
5 e | :
© |
0 ”
A
5
B
Yy
C =
o——— : {
ik oAt b resh boents
J'
@ 7 | ol R R Cles
——5V
Q). -0V
(3) 5V
A 5V
4) e () AV

T FR fATHEET G W Al E a4 s W
AfA A 21 t =4 9FvS THFR H 43 =Afa 5RI TH
iz fazat % e it S | t =6 HHUE T 7Ig
a1 S A R A & 2 (A g =10 HLA2)

37.

1  20y2 LA, 0

@ 2042 A, 10 HAZ2
@ 20 %A, 5HA2

@ 20H.A, 0

11

e D —

04
Section - B (Physics)

36.  TFor the given circuit, th_ig%_ggigi,@_ljignalsare
applied at the terminals A, B and C. W__h_aﬁyplﬂ/d_
be the output at the terminal y ?

ty, ta t3 ty t5 Lo
A a—
B :
5 L 1
C I
0
A
>_
s
o—
Y
o—
tp ty t3 bty t5 i
St s e o |
oV
g 1/
@ | 0V
@) =2 5V
—O0V
37. A car starts from rest and accelerates at 5 m/s2.

At t=4s, a ball is dropped out of a window by a
person sitting in the car. Whatis the velocity and
acceleration of the ball at t=6 s ?

(Take g =10 m/s?)

AU 20V2 mis, 0

B) 20 m/s, 5 m/s2

4  20m/s, 0
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38.

39.

12

T 200 9., T 81 500 7 FH Y THH T
Wh%:noﬁ.ﬁ.ﬁmwﬂﬁﬁﬁﬁ%' S
2 6T 1 Zomm we § 20 450, W A R
W%ammmmﬂ‘m‘@gﬁ 160 9.4,
ﬁmﬁﬁﬁﬁaaﬁmm%l A FIFAC ‘m’ S HH
ﬁﬂﬁ@gﬂmwﬁr&ug:loﬁ./ﬂ.g)

0 20em 40 om 160 em

2 kg m

@ — fsm
1
(3) 5

@)

30ﬁ.ﬁ.®mqﬁa‘?msﬁﬁeoﬁﬁ.qﬁm
T fag avg Sufeem #) A< T THIS T4, g

HE T T T 40 A, AW IAE A
aﬁmﬁﬁwmmmm@ﬁ:‘

<60 cm—\</—40 cm~>E

@)

30 .41 THIA U0 |, T7 SRR wfifers
Gl

20 Y. FHTA T W, 77 syurt v
B

@)

3) 20 Q.H. 7 9, T8 FE(TH Fafars 2|

(4 30 Q.H. T 9, TE TRA(H Wftfrea gy

138.

39.

B

B
A uniform rod of length 200 cm ang iy :
balanced on a wedge placed at 4 cmsss[i
mass of 2 kg 1s suspended from th l‘odma'i
and another unknown mass ‘m'’ jg Suspey Aty
the rod at 160 cm mark as shown i, t‘ded
Find the value of ‘m’ such that the I‘Zji‘

equilibrium. (g=10m/s?

160 cm

]
|

0 20cm 40 cm

A

@ sk
2710703

A point object is placed at a distance of 60 cn
a convex lens of focal length 30 cm, If 4
muror were put perpendicular to the prinapa
of the lens and at a distance of 40 cm froni
final image woul& formed at a distanced

A

« ©60 cm—"%—40 ¢y

@)

ENENENTENTNINENEN

80 em from the plane mirror, it wou!
Virtual image.

O 20 rom the plane mieor 0
VIrtualimage.

9 20 cm from the lens, it would be’
Image,
JA)‘ 30 em from the lens, it would be *

Image,
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40.

41.

42.

43.

13

" Three resistors having resistances ry, I' and r3
are connected as shown in the given circuit. The

fiew 71 afqe 3 SRR 1, x,, T v, SRR ATt A
it S ¥ | ofey ¥ e R 1 U

g T2

A B
i3 Iy

(1) N 13 To

(3) rzl‘:l' r3

TF A7 LCR URY" § 5.0 &0 H I, 80 HIEshI
e =1 U 991 40 309 F1 G 230 diee 6
Rada sEfd & yeEd S 9 91 €1 TS
Froitg SEfT T v F e i ARG
1) 46 ¥eF/A., 54 feF7/3.

@) 42 3feam/3., 58 Mez/A.

@ 25 f=F/A, 75 T4

@ 50feF/A., 25 FeF/A.

T SIS ZEER S 220 e HE@A FewEd i §
2%, 11 F1ee, 44 A T THE HLAE | TR
 wifsq z1f %1 9709 WG U, YR qRee 4 910
1 Bt 22

1 2TEE
@ AT
@  0.2TEA
@4 04

qa;'m’zwmaqu%ﬁm@wa‘n
U=kve(k<1)@uéﬁaﬁmm%|

(V, =T 5
mtmm%wma’fmﬂmﬁ%:
R%k
(D
, B €0L0TLe
1-k? =
2
o g
' 2
@ R(l—]j—];]

41.

42,

43.

04

L . .

ratio —3- %f currents in terms of resistances used
— u

in the circuit is :

ig T2

A g B
13 rg

Iy -~
D Syt ” LV

T9 A.: 7
(2) T +13 K

1 A
®) r9 +13 J$ = z

N Y3

A series LCR circuit containing 5.0 H inductor,
80 wF capacitor and 40 () resistor is connected to
230 V variable frequency ac source. The angular
frequencies of the source at which power
transferred to the circuit is half the power at the

# iniar frequency are likely to be :
42 ra

(38) 2brad/sand 75rad/s
(4) 50rad/s and 25 rad/s

A step down transformer connected to an ac mains

supply of 220 V is made to operate at 11V, 44 W
Tamp. Ignoring power losses in the transformer,
what is the current in the primary circuit ?

@ 2A

Ii! 0.4A

A particle of mass ‘m’ is projected with a velocity
v=kV,(k <1) from the surface of the earth.
(V, = escape velocity)

The maximum height above the surface reached
by the particle is :

R%k
O T

=

®3)
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45.

14

TF 12a =R a9 Wiy ‘R 1 99 T W,

@ ‘&’ YN F Fuang s qen

@ a" YN F 71 F S F uwEn Fedt §
TS S

LIRED TUSE F1 JEF fga sl s ¥

(1) 3Ta2q914142

@) 4Ta% 991 3 a2

@) 31a2qur31a2

(4) 31a?q9ur a2

R, T R, 5eaniatl it & wneehia gt o9 e et 4 o
TS W E AR R, > > R, @ 37 957 Wi
WS M TEEIR B

Ry
(1) Fz F
R2
@ ﬁf— F
Ry |
3) Ry %
R
(4) R—? -

% F01 R 5520 % 9 H 99 91 @ vfa 0 gu o
T W FA S T g Aq 2

uﬁﬂéwmﬁwwﬁm'e'mmﬁa
@W,W4REWWWWWW%I
g Fv ‘o' o= s 7

o a
0 =sgin""

(1)

( ZRJ%

@

3)

“)

4.

46.

T [4
1 "
Vo

—*

By
A uniform conducting wire of len, gt'h.-lza
resistance ‘R’ is wound up as a curr ent oy

coil in the shape of, ‘
(1) an equilateral triangle of side ‘g’

(i1)
The magnetic dipole moments of the cqj i
case respectively are :

1) 3la%and 4 1a®

@2 4la%and3 Ia?

a square of side ‘a’.

@) 3Ia?andla?

Two conducting circular loops of radii R, ap
are placed in the same plane with their g,
coinciding. IfR;>> R, , the mutual inducts,
between them will be directly proportionaly,

D

@ X L
2 Juo n
Ry -

@ T (8

A particle moving in a circle of radius R

uniform speed takes a time T to complet
revolution.

Ifthis particle were projected with the sames
at an angle ‘0’ to the horizontal, the mas®
hexght attained by it equals 4R. The ang
Projection, 6, is then given by :

FanA
1) O=gin™ (ﬂ} :
g;l\i!

&8'1‘2)
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47.

49.

50.

TR
— (—) -
F=q va)
=) ( A\ A A
=qU X Bi+Bj+B0k)
. - A A A
H,q=1Tq v=2;+4+6k 3R
— A A A
F=4i-20j+12k % T
— 2 .
B T Tl Ssn @ B ?

A A A
M  gi+8j-6k

@ 6i+6;-8k
O s ok
@ gy e sk
M T=EE 99 R e % uE geig e ¥ 90°
Yo 3 T U =Y () T e S e | o= g
Teot T S S ST Peat o R § S el

1 St F qc & orEEd 314 & 99el ‘MR? &K
{E‘l%l K FHHEE : ;

1
@ A
1
2 ry
3
3 7
7
4) B

o TES F 27 32 ek 220 dieE W AR g
3| ¥ foea UF 921 92 A & | a8 98 F fav
FHI oM HIfAT |

1 15209
2 1980dIcE
@) 6609

@) 13204E

w 0.15 T F TS 10 . S & et St §
o <l & 2R TH S 0 g ¢ | T8 W
R TR SATAT HT GRCATI AT 7, AT
(g=10H1./8.2) '

@) 24 e, < A /4.

@ 14 fem.m. x . /4.

3) o fam.am. x . /4. | 2

@ 42 fmam. x T /4.

15

49.

50.

47.

04

In the product
— (_) —))
F=qlvxB

— A A /\)
=qux|\Bi+Bj+Bgk

A A A
Forq=1and —2i+4j+6k and
-

WMel

A A A

F=41i-20j+12k
- —

What will be the complete expression for B ?

i 1

A A A
1 gi+8j-6k 5

A A

A
@ 6i+6j-8k

From a circular ring of mass ‘M’ and radius ‘R’ an
arc corresponding to a 90° sector is removed. The
moment of inertia of the remaining part of the ring
about an axis passing through the centre of the
ring and perpendicular to the plane of the ring is
‘K’ times ‘MR?Z. Then the value of ‘K’ is:

®
1

@ 3
'

@ 3

Twenty seven drops of same size are charged at
220 V each. They combine to form a bigger drop.
Calculate the potential of the bigger drop.

(1) 1520V

=
(3 660V
4 1320V

ll\obtzll :fﬂl:lass 0.15 kg is dropped from a height
J40 m, strikes the ground and rebounds to the same

eight. The magnitude of i '
+1€ magmitude of impulse imparted t
“the ballis (g=10 m/s2) nearly : 5 3

D  2.1kgm/s Q AN

@  l4kgm/s
¥ 0kg m/s o & 5
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51.

52,

53.

55.

16

UM - A (TR )
") ﬂ@ﬂmf&mmmmaﬁmw
1) 1900 K 7% B
(2) 5000 K 7%
(B) 1200 K75
@ 2200K 7%
'mﬁam m
F1 38 srEn vd am e (
(l)
& & J? QJ
(3) mz
(4) aﬁﬁ%dm
=1 Tt sifufrn 3 g@ a'eqra
CHj _
CHa/CH_CH=CH2+HBr (C6H500)202 2
CHj
¢V CH-CH-
CH,” o s
Br
CHj_
@ _CBr—CH,-CH,
3
CHj_
3) CH-CH,-CH, —
CHa/ 2 CH2 Bl‘
CHj
4 CH-CH,-CH,-0-C
4) CH,” 2 2 OCgH;
mﬂ!ﬁmaﬁ%ﬁﬁt%mﬁafwﬁa;%mqm
FF 21 FA = A7 H e §
CH,
W CHY  iNH, \\ =
CH, - CH,
@ CHf r|~r/ NCH, W
CH, \(‘G
CH,
@ CHy  hNo,
CH ,, CH,
) z\NH/

mmﬂmmmmmm
awmvatl A A JEE F97 1 e |
I Tl A gaa ftam ae g #

P

)

53.

65,

1

22; I Tl % A @lfer et %1 5
AT o §

(@) <aepee ¥ v a1 firea &

() S i e U i s T g €|

=
e

%
E

Section - A (Chemhtry)

The maximum temperature that can b

in blast furnac

1) upto 1900K
The structures of beryllium ch]g;_—;
%\

A,

upto 1200 K

(2) upto 5000 K
and vapour ghase are-—

‘J«P)’ Dimer and Linear, respectively

Ch4in in both
(4 inear in bot s

The major product of the following cheg
reaction is:
x Qc

CH
" CH-CH= CH,+HBy (CeHsC0)0 |
CHa ~ E’

=

CH,

N
M JCH-CH-CHj, r

CH
2 Br

CH,

N
@ _CBr—CH,—CH, %_

CH,

3)

)

NOble gases are named because afthelf e

towards reactivity. Identify an B¢
(1)

Noble gases have weak disp a2
(2) Noble gases have large positive Y&
electron gain enthalpy.

Noble gases are sparingly : soluble 2 ¥

g PO.
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56. WIS W F arem M ¥
@)  CgH O
@ C4H,,0
DA
@  CgHyy Q\,\.b'rt‘r\?,’o o
@ CgHO . -
57. 2.9 W ¥ fmrear e
SR W28 X1 SR IR W m?%g@
. i
Q) A e :%f
@ wd fmw —
e S Gl
@ T w
58. ﬁwﬁ:%ﬁamﬁfﬁq@qﬁamﬁq%m
Cp W Cy F T WY ) A FI@ € ?
() “Cp=RCy )
@ Cy=RCp W S8 .
(3) CP+ C\7=R ("».
@ Cp—Cy=R
5o, i VOt sufE 8 ffta SR A W
JTUPAC - S1 § ?
(i) CoHzMgBr, I $R/ |
S (15 H,0, H* i
Q) YA-s-3d :
@ 2 2.3 X
@  2-HfE WeE-2-
@  FA-2-3|
60. T (K) T SERTAEHA F pK,, T THifeH S
pK, TF FAY: 3.27 T 4.77 €
itz faead & pH %1 ¥ fawey R
Q 795
@ 625
@ 8.50
(4) 5.50
61 e A fg MR
sl

m@mﬁmmm(m

o) @1 & ¢
Sl :

QNy—QNy Q\E—- (}\5
17

67.

4

b6.

58.

59.

61.

04
The compound which shows metamerism is :

il) CIHGO X
@)  CgHyy

The major product formed in deh drohalogenation
reaction of 2-Bromo pentang 18 Pent-2-ene. This

product formation is based on ?
() = HofmannRule *
@ Huckel's Rule *

LETC NG

una s e

Which one among the following is the correct option

for right relationship between Cp and Cy for one,
_mole of ideal gas? 75

(1) Cp — RC\,‘ — ‘R

(‘3) C\:= RCP CQ o CV

®) Cp+Cy=R

What is the [UPAC name of the organic compound
formed in the following chemical reaction ?

A atone (i) CoHsMgBr, dry Ether _, Product
o= @) HyO, H*
(1) pentan-3-ol

2-me propan-2-0

pentan-2-ol

X ~ @
@ The pK, of dimethylamine and pK, of aceticacid

are 3.27 and 4.77 respectively at T (K). The correct
option for the pH of dimethglam?nonium acetate

solution is:

) 6.25 P = \')kq ’Pkb ¥
8 850 R ass 8-y
@) 5.0 N |

Given below are two statements:— i .'
Statement I : ‘ ; S 0 ;
Aspirin and Paracetamol belong to the class of
narcotic analgesics, =y
Statement 11 :

Morphine and Heroin are non-narcotic analgesics.
In the light of the above statements, choose_t.he

correct answer from the options given below.
() Statement I is correct but Statement IT

18 false.
(@ Statement 1 s incorrect but
; Statement 11 is true.
M) goth Statement I and Statement II are
rae,

h\L\\ —

e

Scanned with CamScanner
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62.

63.

64,

65.

66.

67.

68.

/1) - 698.28 S cm2 mo] - 4\

(2) 540.48 Scm2 mo] ! S A%Cﬂa

e

(3  201.28 Scem2mo] ! M

4  390.71S cm2 mol-! % oY

-1 51 e gei-11 4 =8 | C%

TEl-1 Geit-11

@ PCl @ = ffh

b) SFg ) PR et

(© BrF; (i) AEFHARET *T%R
@ BF, (v) T fefrafae

e fou e fawedi & @ w9 s mw el @

@D (@)-i), (b)-G), (0)-(v), (d)-(i1) S) Q
@ (@-Gv), b)-(ii), (0)-(i), (d)-G) ’
@ (@-Gv), b)-Gii), (-6, (@)-) %B%
@ (@)-i), b)-(ii), (c)-(v), (d)-()

(1) EeE

@ =FA

(3 TFH

(4) FARAHA-66

el 14 FFR & 99 SeThi #1 0 2 oo i
F1 g& #F feru wél fameg 2 .

O 2

@ 3

@ 7

@ 5

L26 - \k

2
18 Lt u ( Q Q
o g Which of the following reactj,,.
e wmaﬁ LR s YT feremad aAfifan &7 ‘@ displacement reaction ? Choos;:gotnh8 1§
el faeq 95| (1)  Fe+2HCL>FeCl, 1 e“gh{q
(1) Fe+2HCl - Fe(l, + H,T @  2Pb(NOg);—2Pb0 + 4y
@  2Pb D2 il A 270,)
= (N03)2 — 2PbO + 4N02 + 0, 2KCI10, — 2K(] + ¢
e A 3) 3 302
®  2KCI0,— 8, 914 30, UL o st
A = @ @}' e Ur "m}‘;nr’—i)_’?.‘]_um‘_"/":.__‘]i,‘j\ﬂ,,v_:q;_‘)l;vr.‘,
(4) le203+2A1\>AJZO3+2Cr Q Hlo , iodog L
RBC aﬁ w’ g'izmn E _{;'_q % : %\/ /\—263. The RBC deﬁCIBHCY lg e __mencydiseaae
- M (1)  Vitamin B, X
) Bl kil w X c-L‘g)‘\}o Vitamin BZ
@ t5afie B, % WSO g be 3f  Vitamin By,
® faafmp,, 71 C O X (1)  Vitamin By
@ fefmB, 9 i { e .
S \ 64. € molar conductance o NaC
NaCl, HCI T CH4C00Na %} $¥ Tl W Hierw CH,COONa at infinite dilution a?ﬁzle?

mm: 126.45, 426.16 T991.0 S cm2 mol ~ !
€| 37 TIM R CH,COOH % wer Srerehar &

75 gl 4 & 29 A agee ¥ g ffde
o s 2 2

Zx (Z=40) T3 Hf (Z="72) % qomifogs; ug
foand GHA € | 39 H ST

1) ma@ Eh

@ i % TEEfT T e
(3) i WA HHE & A §

@) faewo g

65. Match List - I with List - IT.
List -1 ' List-1I
@@ PCly (@) Square pyram
k)  SF, (iid— Trigonal plans
(©  BrFj @i) Octahedral
d BF, iv)  Trigonal bipym
Choose the correct answer from the Opto
D below.
(@)-(1ii), (b)-(), (c)-(iv), (d)-(i)
, 2) ~(
i3) (
66.

67,

68,

and 91.0 S cm? mol ~ respectively. Tbi
conductance of CH,COOH at infinit, i
Choose the right option for yo
(1) 698.28 S cm2 mol -1 ‘
(2) 540.48 S cm? mo] 1
(3)  201.28 S cm? mo] -1

R QOO T Gl
4y~ 390.71 S cm= mol 1

Which one of the following polymersisi

by addjtion polymerisation ?

(1)  Novolac €
2

Nylon-66 #z_

The correct option for the number of hod

3t colls in all 14 ty

cells ig :

\/(4’7 2

T

(C
2 (= 40) and Hf (7 = 72) have simil®"*"

lonic radij because of : '
_Hes
g) having similar chelm‘g proper“

(3) belonging to same group
@ diagona) relationship '

pes of Bravais 2%
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69.

70.

< L

umum
Wﬁﬁ ﬁm%mmmm%lnw

|

O R foerm s

@) foerm

®) g:gl IERpC AD 21§
@ T faem Y+

00 -39:2 FI, ¢=3.0X10° ms~ ]
/ - m
@ 2192cm Ix®

B 2193m
@ 2192m . 136Q

T FE{H A ¥ 78% (VR gRI) FEd U6 39
TR TSI 1 W R | 5 2 o e T

F1 HE fTHeT ® ¢ [P YR : C=12, H=1]
(1) CH,4

@ CH,
@ CH
@ CH,

ot sfufem AoB & fau afufwar 1 e
\—4.2kJmol‘lﬁmﬁ@FﬂQ.GkJmol‘l
3 st ¥ fou o fefew o=t s =

ey ©§ wetia P T &
\
Jie
O PE A B

.

Reaction Progress

1

\

Reaction Progregs

ﬂh

1 ﬂ
(3) PE B
A
I

Reaction Progress
1

N
4 TE/\
@4 PE|A .
L

Reaction Progress

N

19 04

69. The right option for the statement “W

xhibited by’ 15 :
\%}mhsoluﬁon
Urea solution

3)  NaClsolution
(4)  Glucose solution

0 A particular station of All India Radio, New Delhi,
broadcasts on a frequency of 1,368 kHz (kilohertz)—
The wavelength of the electromagnetic radiation
emitted by the transmitter is : [speed of light,

c=3.0x108ms~ 1] 7
(1) 2192 m
) __2192cm

® 2193m

9 2192m

@ An organic compound containg 78% (by wt.) carbon
and remaining percentage of hydrogen. The right

option for the empirical 1 formula of this compound,

i.sj;_‘[Atg‘mic wt. of Cis 12, His 1]

©® CH,

3) CH

(4) CH,

79. For a reaction A—B, enthalpy of reaction is

—4.2 kd mol T and enthalpy of activation is

— R .
9.6 kJ mol ~ 1. The correct potential energy profile
Tor the reaction is shown in option.

’

7 M AR G\
T /\ '
By - {a = S;C,k:y

\ Reaction Progress

! B

@ A

Reaction Progress

i /\
@ PE B

: >
Reaction Progress

in'y i

—

Yo

Reaction Progress
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73.

75.

77.

78.

20
C-X' 54 F} 5y Tkt 77 Tt o & ¢ 13:
O CH —1 \( Hy—Cl>CHy—Br>CHgy-1I
(2)  CHj (H -F>CHy—Br>CH,-1
® <|1_-1 <CHy—Cl<CHy—Br<CHy-1
4 CH,-F>CH. A-(]»(H‘ Br > (Il -1
ﬁmnnfmhfuﬂmmﬁ ﬂWf‘TFS‘F‘WlEm
T T HHA & N vy F a9 wWeg 32 s
O  3EE
@ T vty
@) foEa srawes
@ SvicifEsd
fwmﬁmvﬁam(%aﬂwﬁqaﬁﬁﬁa)mm o
H SR U6 s R 5 den 3 |
e faweg ¥ .
@ 21
[ 126
® 84
@ 612
WHIQW%B\Elsg\I'ﬁ@ﬁqﬂﬁﬂﬁ 5“@ 76.
IR faaa & e 2 2 (y W
1) FEE SR G
@ =dfaay FaREs
(3 ey FnEs
@) E¥EE TGS
BIESIS 1 U (edufaes gaeaties, Tefeay, fie ;57.
H F {58 79 =1 s FE 82 1
() TH(y)
@ ()
@ @=&aE-)
4) 3cF (a) 78.
2.6-SEAfgA- ?354 F1 HEl G
4
| NN
@ :
O
1
@ l
3)
€))
F

gy

The correct sequence of bond enthalpy, ofi(Ly,
~X)

;‘]) CH, —F<CHgy —(']>CH}‘Br>W
2 (H,—(l>(H,—P>(Il B,)('}‘
(3 CH,—F<CH,-Cl<CH,~ ~Br <y
(4) CI—I,3 F>CH3 CI>CH3 Br>(f>

Which one of the following methods ¢y, B
obtain highly pure metal which 'M
_temperature ?
(1)  Distillation
Zone refining
Electrolysis
4)  Chromatography
Right option for the number of tetrdhpdr ‘
octahedral voids in hexagonalprlmxth e upy
-— W

are : ”
1 21 w I
\ 12' 6 /‘0 A\
B) 84 6
@ 6,12 =5

Among the following alkaline earth meta] b,
one whlch is covalent and soluble in o,

solvents is
(1) Magnesium chloride
Beryllium chloride
(3)  Calcium chloride
(4)  Strontium chloride

Tritium, a radioactive isotope of ‘hydrogens
which of the following particles 2

)  Gamma (y)
(2) __ Neutron (n) ¥
B) Beta~) X
4)  Alpha (o)
The correct structure of 2 6 Dimethyl- dec-

18/

(1)

@)
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79.

80.

81.

[ Engish]

o o e T T 7 M 1
G T S T ) e
@) sp’uag
@  sp2TH g
@)  spiudy
@)  splud e

m%ﬁvmaﬂnﬁw
T & T s, mﬁwﬁhéﬂmﬁ:

—>
(7
AE
4+
-
<
7

N
V/Q
A L N>
=) QO
D o~
m EF P =
fé,i =
&
Volume (V) —»
(dm?)
=
: 5E 600 K
@ 28 00
v
A
Volume (V) —>
(dm?)
= Kr
1 Ry 200 K
(3) ;-é é’-’/ 00
Qv
= g bt
Volume (V) —>
(dm?)
& |(200K, 400 K, 600 K)
&y (200 K, 400 B, O
O~
-
4y 28
&
Volume (V) —>
(dm?)
o 35 e e s HE
1 60
@ ©0
@3 120°
@) 180°

e

21

80.

81.

04

S Z_ 25 & e
—
19, BF, is planar and electron deficient l"‘,mp“‘md'
b & x ; ‘onA ar e
Hybridization and number of electrons argund th

central atom, respect ively are

A1) sp?and6
(2)  sp?and8
(J¥)< sp":nul |
(4) '3 gp’and 6

Choose the correct option t'(nr'_gllj;gp»lllj_:}‘lﬂ,.
representation of Boyle's law, which shows a gr:lph
wurv vs. volume of a gas at different

temperatures :

\\\S: <+
| DS
& &>
©m 537
28
0
£
Ay
Volume (V) —
(dm?) ’
-
N 38 T
DZ ] 10
()
-
a

Volume (V) —>
(dm?3)

w
<.(30 (

— .

Pressure (P)
(bar)

3)
Volume (V) —»
(dm?)
& [(200 K, 400 K, 600 K)
@ 373
o
A

Volume (V) —»
(dm¥)

Dihedral angle of least stable conformer of ethane

g (21

(1) 60

SO (R
@  120°
4 180°
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a2

WAR 1.

arvetie Wi R 1 SEER s R
HE << HOL << HBe << H,

AR,

QR AR W N AW WA R, O, Br, | 1 0HR
W R AR HE, HOL HBe W HT ¥ WY §)
VR SR Wit R o vl s s W R
ST O e e R g R S Q

TR

SR 0 SR RUR USRS RIN A
@ WUN e ¥R W
®) nﬁ‘ml@mlmﬂn
@ U WU R e ¥
\ 'F‘*’\‘ 4
e v ®) s #» WM¥

250 m] W& H 10 g TR (CgH, 30 B RER (P,),
250 ml W H 10 g TRA (CH,N,0) W WIS (Py)
TS 250 ml WA W 10 g §RW (C,yHyy0,,) T WEER
(Pg) | T T ¥ T Tl ¥ W W W N

l&i&s‘@

Acid strength inereases in the order give
HE << HOl << HBr << HI.

Statement 11

Statement | ¢

l\\\

As the sige of the elements F, C1, Br, lincregg,
down the group, the bond strength of HEF, Ho\i
HBr and HI decreases and so the acid strengy
Incroases, : '

In the light of the above statements, choose th
correot answer from the options given below,

() Statement I is correct but Statement |)
18 false.
@ Statement I 18 incorrect by
Statement 11 is true.
N Both Statement Land Statement I
e,

@) Both Statement I and Statement 11 are
false.

The following salutions were prepared by dissalving
10 g of glucose (CgH,90g) in 250 m] of water (P ),
10 g of urea (CH Ny O) in 350 ml of water (P,) and
10 g of suecrose (CyyHyy0,)) in 260 _ml of
water (Pg). The right option for the @—g‘paait\g
order of osmotic pressure of these solutions is :

@  Py>Py>P
2, T

@ Py>P,>Py
@ Py>Py>Py
L 84, ngylene diaminetetraacetate (E_lz'l‘:‘\) Jonis:
(1) Bidentate higand with two “N" donor atoms

@ Tridentate ligand with three “N" dono
atoms

l “H” !onur a!oms

@  Unidentate ligand

g
86. )’I‘he incorrect, statement among the followin

18 1

(1)  Lanthanoids are good conductors of heatan
electricity.

@  Actinoids are highly reactive metalt
especially when finely divided.

®  Actinoid contraction is greater for eleme!

to element than Lanthanoid contraction:

IEETR R R "
Rﬁ: qu of
(1) p\_).>l)S>P\ w b.
@ Py>P,>Py vT“*"*/
i DR O \t
@ P,>Py>Py ¥ ﬂ
L &
TS SRUHINRTRHIRR (EDTA) SRR “ A o
@ [N A RS Wy RER e 7
@ TN T el % W RRR e
@)  WRUO"WE AN [ WHIV § WY TR
INUES
@ URR e o
e Y R FE R (
O  ANAATE T TE o F o = o ¥
@ e s s wigd ¥ e
w9 I § Y fawfva ¥
@ ANIS STH Tt T § T 7 ¥ TW
T 1 TRRATE = v ¥
@ Sy PR e s S s
A B R

colorless in the solid state.
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86. T AT sfinn o mered v 0 8

g7, Tt At % fau wE § SfiwEiE R T 3
NH, N; CI” ~
Br\©/ NaNO, HCL \@/ \Q/
0-5 C
Br
@) CuCN/KCN
@ H,0
@) CH,CH,O0H
gg, fau g e # A F1A A T HE?
1) SbCls
@ NOy
3) POCl,
@ CHO
80, ¥ frefarad 7 # A I T GEEATZIE
7w E &7
(1 Mn?", Fe
@ Fe2t, Mn?* /
@0 o

TN - B (TS )

Cl
CH/
Q) )
o Cl
CH
@) SH

@ : _CH(OCrOHCl,),
@ : _CH(OCOCH,),

04
Section - B (Chemistry)
The intermediate compound 72 X’ in the following

chemical reaction is :

9
C

CH,
’ 0S8, . Hy0* H
+Cr0,Cl—2r X ——
_Cl
CH__
M Q/ 1
/Cl
CH
quhinsesd

/(2)/ : _CH(OCrOHCly),

: _CH(OCOCH,),
The reagent ‘R’ in the given sequence of chemical
reactionis:
NH, N;Cl-
Br Br NaNO,, HCI Br Br = Br Br
0-5C
Br Br Br
(@) 1500
(2 CuCN/KCN X
H,0

@ GH‘ CH»@H

88. Which of the following molecules is non-polar in

_nature ?

@ NOy
@) POCly
(4) CH,O

rom the following pairs of ions which one is not
an iso-electronic pair ?

“(1) Mn2+, Fed3+
@  Fe2t Mn2+
@ o0 p-
@ Nat Mg2+
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90.  FeR-I 1 firer geit-11 & Y| 90. Match List - I with List - I1.
w1 Wi . e
@  250,®+0,@)— G  orel o (@) 280,(p)+0yE)—> () Acdrain
b  HOCI(g) __hv (i) E-FRET b HOCI@g) __hv_, (i) Smog
OH+Cl OH+CI
(©  CaCO4+H,80,- (iii) 3T & (© CaCO,+H,80,— (iii) Ozone
CaSO, +H,0 + CO, CaSO,+H,0+CO,  depletion
d NOyg) _hv Gv) evHSety d)  NO,@) hy | (iv) Tropospheric
NO(g) + O(E.) ' ‘ LA NO(g) + O(g) pollution
= faw e foshedi & § TE I ﬂﬁ ' Choose the correct answer from the options give
@ (@-Gv), (b)-(i), (), (d)-(ii) below.
@ (a)-Gid), (b)-(), (0)-@v), (d)-() 1) (a)-Gv), (b)-(iid), (c)-(1), (d)-(i1)
@) (a)-G), (b)-(ii), (0)-(iii), (d)-Gv) @) (a)-(ii), (b)-(ii), (¢)-(1v), (d)-G)
@) (a)-(i1), (b)-(iid), (©)-(v), (d)-{) (3) (a)-@), (b)-(ii), (c)-(iii), (d)-(iv)
. _ . @  (a)-(@), (b)-(i1), (c)-(1v), (d)-G)
91. 1 S e H 0°C R U fagon i 4 ¢ 0, w
2 g H, & T &, SHH Fo & (atm H) * qar | 91.  Choose the correct option for the total pressur
e el (in atm.) in a mixture of 4 g O, and 2 g H, confine
[ﬁm"@%‘ R=0.082 L —1w—-1 in a total volume of one Iitre at O°_C is :
o atiol s e 21 [Given R=0.082 L atm mol~ 1K~ 1, T=273 K]
( 25. < 0
SRS N | VR HOVCY
@ 202 P=hX% &*® 2 2602
3) 2.518 (3) 2.518
4 2.602 (4) 2.602
. NaOH, +? 0
92. CH,CH,COO~Na* wf~ CHyCHy+ | 92, CH,CH,C00-Na+ —N20H4? oy o
Na,CO,. Na,COs,.
Iuge afHan | STafterd SRt/ Ema & qewm | Consider the above reaction and identify th
1) Ca0 mi reaent/chemical.
2 DIBAL-H o
v (2) DIBAL-H
(3) ByHg @ B,H, %
(4) S BRI (4)  Red Phosphorus
M UHife®w Irq &1 "@iT ATAahdl :i > X
93. 0.007 e Soi 3 93. ) The molar conductivity of 0.007 M acetic acid:
20 S em“ mo ‘R:i. ifesh fereitor feertich 20 S cm? mol~!. What is the dissociatie
FN T ? el faswey ﬁel | A constant of acetic acid ? Cboose the correct opti0
A° =350 S cm? mol ~* — f—\-A-J\ NG 2 ~3)
H == += 350 S cm™ mol
2 11 AN HY
° _ =508 cm” mol 5 2 o
CHCO0 A =508 cm* mol
,\V\/\ CHgCOO™ ey ')\d
@ 1.75x10 °mol L~! =
@  2.50x10~9mol L~} )‘"* D 5 : L\(?QD
BH0Ox 10~ =
@ 1.75x10 4mol L1 - ig ! gl :
DX 1054 = X
@ 250x10"*molL~! oL 0§
4  2.50x104 mol L.}
€0L0T.2 1 ~ |
S W, o014 o Ay o5 4 M+ how

HindisErgly
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- &
FinG-Engish] \ & — b G_Tgw
g4, Torell wum ife = safurfiman % forw amitfrer wefeor

95.

96.

97.

’ 1
Ink vis —
k S T) %maﬂﬂﬂ_{;xloln{%l syt p

¥ fu B, 91 9H ¥ 1 98 faser 94
(e T R : R=8.314 JK~lmol~}]

(1) 166 kJ mol !

2) —83kJmol-! = aal
(3) 41.5kJ mol~! IS = I E&
4 83.0kJmol! &

et a8 e emeel T % STeRAvTE

(1) AU=0, AS;0#0
@ AU#0, AS;0=0
(3) AU=0,AS=0
@  AU#0, ASyyq#0

45°cm@ﬁaaﬁﬁrqﬁaﬁﬁqqémmw
@,ﬁwm%mmuﬁﬁm

25

, | b
ng)/T;w glope of Arrhenius Plot [In e v/e '-l'bJ “Lf,‘"’iti
AITNeNETTC ="\ - ;

|

—
S—

=2
"M

96.

FA9E 3 : 2

T:

[45°C R =i 1 e T 280 man Hg qor ST
7 57 2 420 mm Hg ®1 et 7 HE

@) 336 mmHg P” DQ%Pr

2 350 mm Heg

(6)) 160 mm Hg

(4 168 mm Hg

g1 e -1 A R

i1 geit-11

@ [FeCNgl @ 5.92BM

(b) [Fe(l'lzo)e]3+ G) O0BM

© [Fe(CN)gl* ™~ i) 4.90BM

@) [Fe(Hzo)G]2+ Gv) 1.73BM
2 e e foRedl A e Al

Q @-0 (b)-(1id), (©)-(v); (d)-G)

@ @) (b)-(); (0)-(D); (d)-(@i1)

®3) (a)-(v), (b)-(iD): (©-); (d)-(@1)

@ (@@ (b)-Gv): (0)-(i), (d)-®

;/For irreversible expa ]
isothermal condition, th

04

103K, The value of B, ©

—order reaction is = b X
correct option for your

the reaction is. Choose the

answer.

(Given R=8.314 JK~ 'mol y g_q = Sx\©
(1) 166 kJ mol ™’ N

@ —83kdJ mol ~}

o 41.6 kJ mol~!
4) 83.0 kJ mol ~

o \S

of an ideal gas undgr
e correct option 18

gy - Y VY
9) AU#0, ASyoca1=0

2) #* total Wi = U
@) AU=0,ASy =0

_’ AUZO, ASysta1?0 °
our pressure

The correct option for the value of va

of a solution at 45°C with benzene to octane in___
s W -———‘4—/—;———-’?’,

molar ratio 3 : 218 :

@

[At 4:5°C vapour pressure of benzene 18
980 mm Hg and that of octane is 420 mm Hg.
Assume Ideal gas]

R e
36 mm of Hg

350 mm of Hg

@

3) 160 mm of Hg

bl =

168 mm of Hg

)
~ Match List - I with List - I1.

List -1 List -1I
@ [Fe(CN)gl*~ @~ 5.92BM
bt [Fe@d0)t. G 0BM
© [Fe(CN)gl*~ (i) 4.90BM
@ [Fe0)l** Gv) 1.73BM

Choosé the correct answer from the options given

below.
AN

@ (@-@), (b)-Gid), ()-(v), (d)-GD)
AL« (@)-Gv), (b)-(), (©)- (), (d)-GiD)
@) . (@-v), (b)-G), (©)-(1), (@)-Gi)
@  (a)-Gi), (b)-Gv), ()-(iid), (D-E)
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= mwgﬁ%mﬁﬁﬁam%:
0o

?
: CH;-C-0CH,
'\/\ NaBH% ?

OH H

. CHZ = C e CH3
o OH

CH,

o

OH 9
CH,~C-OCH,

@
CH,
OH H

|
CH,— (!: —0CH;
© OH

CH,

CH2 = CH2 — OH
(&8
CH3
-1 s e - a =)
=1

-
Sfaent sitatwa

(@) Feacy 0

|
(b) R—-C-CH,+
Nz20X —

() TeEER-TE
FHufmar
(© E—CH,—OH (i) FeiEE SufED
+R'COOH
E: = Hﬁ Zi
@X;aAP |
@ H,0
= e T foedl 4 4 7@t s 99
(1) (a)‘(i)- (b)'(iv )v (C)- (iji), (d)'(li)
@ @-), ®)-G), ©-Gv), (d)-G6)
@B (2-@), 0)-0), (©)-{), (d)-Gii)
@ (a)-Gm), (b)-m), ©-6), [d)-Gv)

(iv) T=OEm

\‘/

‘

?
CH,—C—OCH,
NaBH,
CH, C,H,0H
OH H
|
@ OH
OH 0
]
CH,
OH H
|
CH,~C-OCH,
3 OH
CH,4
0
(
CH,
. Match List - I with List - IL.
List-1 List-1I
Hell-Volhard-
Zelinsky reacti

reaction
(c) R—CH,-OH (iii) Haloform
+R'COOH reaction
Conc. HoS0, 5
@ R—CH2COOH (iv) Esterification
(1) Xo/Red P
(1) H,0

Choose the correct answer from the options &
below.

@ @G, b)-Gi), (0)-0), [@)-Gv)
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, =
0045 3 o e, e 2
' m"‘ﬁfmw%; ST UEH & | 100, In whi . : the
) NH3 <PH ? n which one of the following ar? .mL’(‘mC“t‘“‘ }
3 S glven sequence ig not gtrictly u,C,C("‘di“F' to the
<AsHg< SbH, o TR _properties indicated :u,min:su{;f.’~ —
@ CO,< Si0, 3 F Y (1) I\‘H;‘—< PH,4 [ncreasing
<Sn0, < Pho SRR &l < AsHy < SbHj acidic character
3) HF <HC] 2 TEd HH | @ C0y<85i0y [ncreasing
< HBr < HI STy e , < b:n()2 < PbOy oxidizing p()w'f“l‘.
@) H.O<H m Fu T (3) HF < HCI [ncreasing acidic
2 25 K wHi <HBr < HI strength
< H,Se < H,Te e T @ H,0<HS increasingPiS
<TH,5e < H,Te values
ST -
A (ﬁlaﬁaﬁ . FfatEAT ) Section - A (Biology : Botany)
101. fr=fafaad .
* Wﬁm "I@HTN&W (it am) 101. Which of the following 18 a_correct sequence of
@ A iml k3l '{13'1‘ IH ) b stepsin a PCR (Polymerase Chain Reaction) ?
o , TfehareTon, anareie (1) Extension, Denaturation, Annealing
= mmﬁvﬁﬂq, fferaento, TER (2) Annealing, Denaturation, Extension
@ AT, AR, TR 43  Denaturation, Annealing, Extension
e, wEw, @ A (4) Denaturation, Extension, Annealing
102.
HdA fagr= ('@-_;."a 21T & Tﬁ qaE et 102. Complete the flow chart on central dogma.
(a) CDNA _(_bl, mRNA &L @ (a) CDNA Lbl» mRNA ﬁ; (d)
ey : : A
Ea)_uﬁ?ﬁwvl, (b)-3TTEH; A (a)-Replication; (b)-Transcription;
0 ©)-TIT; ()-S5 (o)-Translation; (d)-Protein
Es))W“T, (b)-FUI=I; ) @) (a)g;‘an'sdqction; (b)-Translation;
. gferaRfaeRtar; (d)- S (c)-Replication; (d)-Protein
(a)-SfqHThT; (b)-STTeNEH; (3) (a)-Replication; (b)-Transcription;
(c)-TGHH; ) (c)-Transduction; (d)-Protein :
@) (a)- S, (b) FREHAETT, (4)  (a)-Translation; (b)-Replication;
(0)-STFETEH; (d) TG (c)-Transcription; (d)-Transduction
108. qaﬂ_ I Eﬁqiﬂ I a‘ﬂmgﬁﬁﬁ : 108. Match List - I with List - II1.
_@_ I w_ H LiSt - I List i H
. - C v - M B T
& . i:_ == (a) | Cohesion /#1) > :lll';?da;;’»;zc:lon in
RS - I C
3"5_“5h : Mutual attracti
(b) | ks % Piee %S(ﬁ) amonc e
QR STTERYIT molecules.
() [g%& T (idi) [& aa;; F vl B (c) | Surfacetension | (iii) Zy}f‘;e‘ loss in liquid
. ‘ e . se
@ |fog &M@ (iv) iR (d) [Guttation (iv) At{raction towards
. . 0 -—hcﬁ—
EIEAECRIE! faaedi 8 9 [& S I gliOose the correct answerpf:'r(iir t;r ;
@ ® © @ N "
o @ O 2 @ O 0 @ ®) © @
@ @ O @ /@), (?‘_‘) @ Qv @)
@ @ @) @ @) (2. (13) ) (v) (i)
@ @ @ @ O %@i f‘.‘)) @ @
v =
@ G 0
A

e ——
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104.

105.

106.

107.

108, frerferfia # & F 0, .4, o (e spaen
SAfferan) =1 T ST 7 & 2
@
2
®3)
)

28
TRYF s7awen § wsh yrEd Sqgqsis YUrhlS
fefafar SR am 22
@) 7-FEEE R 7-FREE
) 8- FEFHE R 8-FIHT
(3)  8-FmHE IR 7P
@  7-Fswy sRsAfiE
W@aﬁwﬁmw%ﬁqaﬂ#mw
B ST & e S 2
@» 2,43
@ s
3 Smwum
4 WUy

w,mﬁm,tﬁmwaih%fwméﬁﬁmﬁﬁ

gﬂﬁﬂm,ﬁmﬁﬁﬁnﬁwﬁﬁﬁaﬁhaﬁm
?

(D
@)

T ST
T HEA
(8) = 3IEE
@ FHERHA
Tt - 11 G - 11 % = gifem st .
Tt - 1 et - I
Tiha FifvER fayusq ;
= e At e | [ o
UF 3as foay g4t
HISTHE H=T 3R
Fd Fi 2fic § g
fafa= yam Fi
FITHIZ el A%
FAta= A1t fufy g
T4 e ardt gq
EaltiEapt '
ﬁﬁﬁﬁaﬁﬁﬁvﬁmgﬁm
(@ (b) (¢ @
@ @ @) Gy
() @) (v
@ @) @
(iv) @) @)

(a) @)

(b)

(i) |fav==rass

© ferfafte

(1)

(d) (iv) |93 Fa

@
@
®3)
@)

gwm@ﬁﬁ’faﬂm
S Scaftad 1 gar e
Tk M

S gaea

104.

105.

106.

107.

%

A typical angiosperm embrw%'u
SYpiEs :

(1)  7-nucleate and Z-celled
(2)  8-nucleate and 8-celled

3 7-nucleate and 8-celled

The plant hormone used to destroy weeds in g fig
is :

@ IBA
) IAA
@ NAA

The amount of nutrients, such ag carbon, nitrage,
phosphorus and calcium present in the soil at ar
given time, is referred as :

(2)  Standing crop
(3)  Climax
@)  Climax community

Match List - I with List - IT.

List -1 List - IT
Cells with active cell .. |Vascular
(a) divisi . @3l
Vision capacity tissues
T'1$s.ue bavmg g cells ... |Meristematic
(b) |similar in structure (1) o,
and function -
Tissue having :
© different types of cells (ai) Scl'al-e1d§
Dead cells with highly
(d) |thickened walls and (iv) |Simple tissue
narrow lumen

Select the correct answer from the options giv
below.
@ (b © @
M 0 @ ) Gy
@ ) G) Gy @
@ (v G @) @)

108, Which of the following isn applicafi_glyf.fzc
n)

(Polymerage Chain Reaction)?

(2)  Detection of gene mutation =
()  Molecular diagnosis —
@)  Gene amplification_ -
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109.

110.

111.

112.

113.

114.

frrferfierm W & e e 8
) ‘;’;-{m 3T5T5ﬂ§. T ST Iufters e
S 3
1 FH ) R

@ ¥ fom, Fwmw ok Pfies & ,
RS 3 A S ST, oo o e

®) R S e el ¥ o e
S TN bR 39t o ¥

() T, R ofie Ty A o e ¥

ELIRER R ORE )

(1) O SETS |
@ Fo foaEe d

@ wEH

@ e d

frafafaa § | S o FRE TF qHite FES 99d
IO FTR 2

1)  SOREd

@  STHafeE faser

(8)  Whfaew =TI

(@) SRR AT

T GPP — R= NPP # R fard frefum s e ?
(1)  TAE HRE

@ vEud A

@ fafeorss

@) HEAFRE
frefefiad & @ snfge fawee @ fF s |

Wﬁ%mﬁﬂmﬁm%?
@ avEER - I
@  FcEe - Il

@)  HeAEw - 1
@ meEEE - 1

@—Iﬁqﬁ-llﬁ@ﬁamu

gt - | et - I
(@) [ (i) %ﬁmﬂm
[ttt s H fewh-
®) |aEEEEE | @) | s 2y e
‘I“Wg"’— H # siqdfera
= : )aﬁﬁqﬁﬁrﬂﬁ
@ [fef | 6 | ferectipen e
e T A @ W@ S A

@ @ @ O (fl)
@ G) G @) (f)
@ G @) @ ©
Gv) (@) @

04

29
109, Which of the following ip 71

statement ? . =i

(1) The perinuclear Bpace forms 2 l?glltl;;
between the materials present insl e
nucleus and that of the cytoplasm. - =~

(\'}L Nuclear pores act as passages for‘prot‘el 3
and RNA molecules in both direction

en nucleus nd cytlam.

| e P L R b =4t
conspicuous nucleus and USEEE ===
organelles.— '
W) Microbodies are present both in plant and

5 animal cells,
mal

-—

110. Gemmae are present in:

jdz Pteridophytes
111. The factor that leads to Founder effect in a

_populationis+
(1) Mutation

112. Inthe equation GPP—R = NPP

R represents :
:

vvvvv

(4)  Retardation factor
113.

Which of the following stages of meiosis involves

(3) Metaphasel
(4)  Metaphase II

114. Match List - I with List - I1.

List -1 List - I
(a) |Cristae f\ a) Primary constriction in
chromeseme o

(b) [Thylakoids \ (1) Di_sc"ShaPEd sacs in
Gglgz apparatus

(c) |Centromere, \im) Infoldings in
mitochondria
Flattened membranous
sacs in stroma of

lasti

(d) | Cisternae (iv)

-—

-—

Choose thi i i
e € correct answer from the options given

1) 111)
@ ™ @ @ o
@ O G G @

‘__M
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LB, 0 o s e i o, o wenf Y off | 116, Whongena targetiing j’"j"i““"‘“w ;{""‘; m
N Eey T sten e o e weerdt & 7 !_llurql‘l,m jpl,‘nd In u:: “:l’ vidunl's t1ssug |,
(I) oo far dinonge, it is ltnut;/‘ ) ‘ .‘.]“ '
@) ey e (1) Molecular dingnos
@ A (2)  Bafoty tosting ,
@) fr ferfap () Bloplracy
118. - STeRereRTferen i e et 4 ey e o i '
EaekaE 116, The wite of perception of light in plants dun',,‘
) et w5 Jhotoperiodism is :
@) (1)  Axillary bud
@) wiw ving
@ (4)  Bhoot npex
117, ﬁnﬁwﬁgaﬁﬁmmmmww%? @  Btem
M) & o i agde s e 8 117, Which of the following statements ;rmcr
@ TH W i ot A e ferafire e (1) Pyramid of energy is always up¥ight,
B ¥ 2)  Pyramid of numbers in a grasmlan,
@)  H9 T g w1 fiftfirs M1 Fe ecosystem is upright,
2 @  Pyramid of biomass in sea is general)
@) g&z H Sftem =1 fiRfire wvmoren whn dm inverted.
| M Pyramid of biomass in sen in generall
upright,
118, SR wsiferan ) for wame fosfirg farar
THEAE? 118, Amensalism can be represented ap ;
(1)  SIfAA(=);sfaB (-) (1) SpecfesA(-);Spccf'enB(-)
@ SIfaA (+):sfaB (0) (2)  Bpecies A (+) ; Species B (0)
@) wfaA (=) ;wfaB (o) /—4 T T
) WﬁTA(H;WﬁIBH) 1) pecies A (+) ; Bpecies B (+)
= foreiim 119. The production of gametes by the parents
119, Faaa;hi -ng mﬂ'“?';rmai 5T, g _ﬁl I}I ?gm o % formation of zygotes, the Iy and ¥, plants, ¢an b
1 2 s : ! ’
U 5 T u’nderstoiil Trom a diagram called ;
g; .;jz _:;f (2)  Netsquare
®) Eﬁ? o (3)  Bullet square
: (4)  Punch square
@ g3 =
120, frefafEa § 4 #7 5 dam S s Fra#? | 120. Which of the following algae prod uc£' Carrageen
i)
(;) ;ﬂ:-m; A (2)  Blue-green algae
( ) Bﬁﬁ m (8) Green algae
@ (4)  Brownalgae |
@ Yt dEe {
: p— 121, When the centromere is situated in ¢ '
121. 9@ TR, A F A Eﬁmf 7 two equal arms of chromosomes, the chrommoms e
fegd 211 2 79 4% 1 Fena &7 i referred ag : ‘
1) AR (1)  Sub-metacentric |
2  sufaah (2)  Acrocentric
@) HAFA
(4) iR (4)  Telocentric
4
A
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[Find=Engish]
122. @-Iﬁ}{a}—ll%mmw|
et -1 =
(a) [SiTe==a Herag iy
OIS IR | [
(©) [AF=m dasfy o
2 (iv) | ferem] e e

@ ® © @

@ & @ @ @

@ @ e @ a6

@ @ @O G @
123, Rl - 1 gl - 11 % 9 gifoa st
Sl -1
() |F1% Ffaam Gi) [gare faao
© |EfEs aege | [TS =1 SEE-FH
@ [F% (iv) |[Fm-3=R
4= i3 T fawcdi § § W&l I g

@ ® @© @
O @ @ W O
@ G & O @
® M O @ @
@ @ @O G @

124. Wﬁ@ﬁ.@qﬁﬁfﬁﬁ%ﬁqumﬁ
Shae ziTa 1 T § 7e R Saaia 2

a ===
@

(@ FREL
@ 3ITET

. e Wﬁmﬁmnﬁmmm%
F mﬁﬁzmaﬁmﬁﬁ;ﬁﬁm%mﬁﬁa
STl 1 S F €1 T G A F

SaE?

@ gEEd
@ SR
(@) e
(@ =@

' i ﬁﬂﬁ:ﬁéﬁfﬂaﬂtmﬁﬁmﬁmt
- ﬁmmﬁlﬁmﬁwwﬂmt?

04
31

(a)
(b)
(c)
(d) |[Micropropagation
Choose the correct answer
below.

(a) (b) (¢ (@
(1) @) @) (1) (?ll
@ Gv @@ @ (1_)
@ @@ v @ @

¥i1) Somaclones’
iv) | Virus free plants
given

from the options

123. Match List -1 with List - I1.
List -1 .
(a) | Lenticels — (1)
(b) | Cork cambium \ (1)
(c) |Secondary cortex &) |Exchan e of ga
(d) | Cork (iv) {Phelloderm :
Choose the correct answer from the options given
below.
@ ® @© @
@ @ @ @ @
@ @ @ O (1)
@ G 0 @ @@

124. ﬁuring the purification process for recombinant

A

DNA technology. addition of chw‘
(1) Histones
(2) Polysacchandes

o e

125. Plants follow different pathways in response to
environment or phases of life to form different
kinds of structures. This ability is called: -

ses

(20 Maturity
3  Elasticity
(4  Flexibility

126. ngera like Selaginella and Salvinia producetwo
kinds of spores. Such plants are known as:

(1) HOmOS orous

@ ST

@ 3) Homosorus

g; (@)  Heterosorus
- e ——
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127.

128,

129.

130.

131.

132.

133.

134.

32

Frefafas ¥ @ 2 o wew swafamaR 2
O TF R gfemret

@) EEg gfffrg

@) IR ygrr

@ =r

e FifeeRis § fr g safadd 3R s
HhHar & ?

@ I fapoy

@) foufes

B)  FEAfeq

@ 5

gﬂ:{faf@a H ] N, gt § fgdftaen SqwES @
?

O foT=I=EE, whm

@ W R

@) HAHH, FEH

@)  THA T, e

SFA H SRS yfoas % g, wheret w0

ST ST 3 ST Sersfifara & fere i < fafer =01
o faman & 2

(1) SR
@y

3) HEnH faursH
@

F=fafea 4 3 g o § 994 @@ % =9 3
B i B o )

o~ -

(1)  FregrFT

@  ZenrgF
@) T
4)  TEeRar

T 9Ie9 % TTH H TR &, T {47 Uey 3
Afehr 9 TA0 % forn S 1 v e B §
58 921 % SR afdewn W et 9 8 fus

YR % JUTHY] A S & 2
) ﬁa%

2) A

53; A

(4)  FSYed T

fmft gohat forgd U s # 2
1 "X

(@) =S S Ay

@ =

@ 9

HiE §,CO, e & Tean zamht sere o &2

1) T I

@ Wﬂﬁgﬁ; T
@) rEEfa

(4) FESCfEfes o

127. Which of the following plants .monoecio )

(1) ¥ Marchantia polymorpha
2) = Cycas circinalis
¥ Caricapapaya

(@) ¢ Chars

128. Mutations in |

plant cells can be induced bl,

98

©

ma rays

Zeatin

@) Kinetin
(4)  Infraredrays
129. Which of the following are not seconda,
‘metabolitesinplants ?
(1)  Vinblastin, curcumin
(2)  Rubber, gums

(3)  Morphine, codeine

130. Inspite of interspecific competition in nat}x;
which mechanism the competing species mig

have evolved for their survival ? .
(1) Mutualism

2 Predation

@

131. Whiéh of the following algae contains mannitol

reserve food material ?
1)  Volvox

(2)  Ulothrix

Competitive release

BN Gracilaric
132. The term usied for transfer of pollen
anthers of one plant tq stiema of 4
which, during pollination, brings genetical
?jfferent types of pollen grains to stigma, is:

(1)  Chasmogamy
i2i Cleistoiiii ‘
(@)  Geitonogamy ‘

133. Diadelihous stamens are found in :

()  Chinarose and citrus
(3)  China rose
4)  Citrus

134.

The first stable product of CO, fixation iny sorgh‘i
TR%

(1)  Succinic acid
(2) Phosphoglyceric acid

T
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135.

136.

137.

138.

04
3@ W W@, fafean dmee 9 A ) ¢ hidium
P ifeq 21U : | stained with e
o B e Bands cn o £ i 02
1) Ted e ufEE o
) el et afe 1) Darkred hand#
@) e iz @  Brightblue pand®
(4) =W A dfeE @ Yellowbands
ST - B (Sfer : reffer )
. Section - B (Biology * Botany)
m‘ ' ”'5”"?%"“*%"@‘«“*Wﬁmwmﬁ
e, 9% G e o a8 el a : he following PAire
2) embers of which of the 10L87F 2
@l ® 7 136. Insomem y o thei? V) (ability for
of families, pollen T4 retain 2
@ e, HrerEt /7’ ~ months after release ?
(2) m, mﬁ < (1) Poaceae : Solanaceae
@ e, o
4 qraHt @Tgﬁqﬁ'q’:"
% ¢ (3 Poaceae;Rosaceas
forfafaa # 4 & I %1 g (4) Poaceae; Leguminosae
1y N R e S - ST
S e A A 137, Select the correct pair-
femfor SRl g . qlls of medullary rays - Interfascicular
@ SR 1 e Al - TS ggah at form part of cambium
foferel 95 FREHE ST cambial ring
et § o o ST
@)  Loose parenchyma cells - Spongy
=1 fog oA g rupturing the epidermis parenchyma
) =T 1 afadl sl el . e B and forming a lens-
# 52 TreA e ghaped opening in bark
EarEap @) Large colorless empty - Subsidiary cells
@ feeleot ofeai 9 _ it Sah cells in the epidermis
> of grass leaves
At fufa arct a0 @) Indicotleaves, vascular - Conjunctive
FiferEE 4 . bundles are surrounded  tissue
fFRAAE byulsarge thick-walled
ce
freAfafad 3 8 & FA7 't}ﬁQ l ‘)8{ Identify the correct statement.
M @aﬂﬁ@?ﬁéﬁféﬁﬁ@mlxmm e arre
feepa Bl €| ‘ e to an B a transcription unit is
@ M ~in iR (2)  Split gene arran; .
&l - 4 prokaryotes. gement is characteristic of
6) WﬁﬁfmﬁrﬂﬁﬁmaﬁhﬂNA e
5 g/ fir & el I € isadgg(‘inti’a—m’lglw,niphospham
@) Wﬁaﬁé@ﬂaﬁmmmm e 3’ end of hnRNA.
¥ fag R TT T, Rho 1 & 14 -
Sfism & T € o the process of transcription in

Scanned with CamScanner



04

139,

140,

141.

142,

34
RN - 1w - 11 @ ygfer
W - w11
@ % KoCriae@bhpe& @
(b) ...(,i.((r,)(‘gw,\“( g i)y  ferfere
©) "'('5['(:1 | :l)“‘;\.‘l vl (i) tpere
(d) "'Sﬁ(:: 12CafAg 4Gy (v) EE
ﬁi‘n‘tﬁ'&ﬂﬁﬁﬂﬂ’fﬁ@vﬁaﬁtﬁml
@ (b)) © @
M G G Gy 6
@ v G @ G
@) ) Gy G @)
@ @ @) @) (Gv)
Fr=fafea ¥ @ 2 ar wem wem 32
(1) ur Afireft F P 1 sk PS 11 3 B #
(2) TR H BERRENE A PS T 3R PS 11 2
e 2 ¥
(3)  ATP IR NADPH + H* 31 %1 R =138 wehmer
ORI 3 SR Yot gy & |
(@) e - Wil § Fee PS 1 2 sik NADP
et 1 a1 Bran €

S pBR322 B ST ampR % 37T Pet] whraisr
TSIEH § S wefifae wfediy gwiar &1 af g
TSTEH 1 i1l eaRIares Sareq & fou, ueh i 3
fer Frafim ffen stmen @ siv gife <ifsre |

g FIc7 w4 ¥ At faan s S qe .

(1) 399 9t Ffeer § @99 8 s

(2)  THA 54 &5 F T T WA S Y e
Bt

(3) e "t e B vehfeeia w76 5
T

(4) TR IR e ufry # e
&l SR T & Aer-fomeraEe S wa

LAY, sefied # €A, A9 H 3o fafime
Tl A et ) veem # w81 3 fafre
T T T R W) 8 2

() THA FAfRTErREe
2 @EEdE gAY,
(3  ergut ATy

@ gREETT

'%
R

Column K ll

}d{Mutch Column - I with Column - 1.
Column -1

(@) %d K5 Civa+ @B +1G1n O Brassicg‘c‘eas

(b) ‘BdK(G)C/(s;xsgz (1) Liliaceq,
N .

© “’dp(a +9Pa+3G@) >(111) Fabaceg,

(d) G’dKz +2CiAg_4Gio

Select the correct answer from the options give

(iv) §olanaceae

below.

@ b © @
O @) @) @
@ v G (ii imil
@ O ® ) G

140.  Which of the following statements is incorrect
(1) Grana lamellae have both PS I and PS 11

lic photophosphorylation involves bof
ql and PS II.

(3) Both ATP and NADPH+H* ax
synthesized during non-cyel
photophosphorylation.

4) Stroma lamellae have PS I only and lac
NADP reductase.

141. Plasmid pBR322 has Pstl restriction enzyme si

within gene amp® that confers ampicill;
resistance. If this enzyme is used for inserting
gene for B-galactoside production and tt
recombinant plasmid is inserted in an E.coli stra

(1) itwilllead to lysis of host cell.

it will be able to produce a novel protein wi
dual ability.

not be able to confer ampicill
resistance to the host cell.

the transformed cells will have the abili

to resist ampicillin as well as produ
B-galactoside.

2

C))

142,

D_NA fingerprinting involves identifying differend
In some specific regions in DNA sequence, call
ast

(1)  Single nucleotides

@ Polymorphic DNA

()  Satellite DNA

@ @ Repetitive DNA
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(a) [T WW
(b) |ar & :

O S| (i) [wremverrr e
© [ o e
ﬁmzﬁﬁwi{ﬁm
@ () (o (d)
@O @ g (v) (i)
@ Gv) G © @)
@ ) G @) (i)
@ O G (i) (i)
144. mﬁ%@mﬁmmmamém
T W F SR IqF W= o Viﬁﬂ“
mwmmmwmmﬁaﬁhsﬁw
A T SRS G9E € i
) SfEffa i wemfrd ffes w @ s
T A T T G 2

2) SRS S PRmES fhen | T&
i e H 58 T

(@)  SEfd S wRiR fre T st &
T I 2

(4)  SaRafa S S e Ty o wr
®IH A |
145. SO gfg HHIH
N,=N,ert ¥, e forl Fref@ Fa g2
(1) W LTI 1 SHR )
@ mwww
(3) g’@TaﬂllUﬁ;mW
(4) =] AL 1 STHR
146, et 8 & FH 91 Hor WE €7
(1) <l S e e e R e
FE e

@ %mma'g'mmmﬁﬁmﬁ
- gEdel :

@ @ s F e # FE Hew
Sl & | S

(@) o g T o I A

e ] T Z- e e S

48" Match List - I with List - IT.

List - 11
4 |C=C double bonds

List -1 j
a) |Protein Y
® Unsaturated \ (i) | Phosphodiester bonds
fatty acid
(¢) |Nucleic acid
d) | Polysaccharide
Choose the correct an
_below.

(@ ® @ @
@ @ @ ) (iii)

—

(111) | G] cosidic bonds
tiv) | Peptide honds

1 Ve
swer from the options given

@ (Gv) (i) (1) (i1)
Lo w6 6 6@
@ @ Gv G @

y-/Now a days it is possible to detect the mutated —~

' y ing radioactive probe
gene causing cancer b ‘ allowing radioc
to hybridise its complimentary DNA ina cloneof-

cells, followed by its detgggg,n,._using —

“autoradiography because -—

J@iutated gene does not appear on-a
shotographic film as the probe has no

complimentarity with it.

(20 mutated gene does not appear on
photographic film as the probe has
complimentarity with it.

(3) mutated gene partially appears on a
photographic film.

(@) mutated gene completely and clearly
appears on a photographic film.

%the exponential growth equation

N,=N_e™, e represents : -
-(1) The base of natural logarithms *
(2)  The base of geometric logarithms’

-

(3)  The base of number logarithms

The base of exponential logarithms

146. Which of the following statements is correct. 2

(1)  Organisms that depend on living plants are
called saprophytes.

(2)  Some of the organisms can fix atmospheric

nitl;lrogen in specialized cells called sheath
cells.

B)  Fusion of two cells 1s called Karyogamy.
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147, el - 1 el - 11 % Wy gk F10
Tl -1 el - 11
@|Ssmen | ) [MeH 1 wver g ¥
®)|Ge smen | (i) |fAfR ren
At favmem s
(€) |9 Srreen | (i) [ w. Y, Wl
T B o s ST

@ |G smeen | v) [T, = A

= R W e U W@ S g |
@ ® @© @

D @ 6O @ (1)

@ @ G @) @)

@ @ @ G (iv)

@  Gv) @ i) ()

148, Triforfiad & Q 97 w1 em e 22

D) T, F1 Heemww wmg v F g7 o 2

@ U= s, vae § S e e
FA T

®) Ww%é\mﬂmﬁaﬁwaﬁn
ST T Hifeg §)

@ L. (RFETT vfigey @A) ¥,
NADH +H* & U 319 & w3t i, % <) 37
aaﬂ%ai‘anADHﬁahATpanﬁaﬁu

149 T - 1 %W - 11§ iferm i
= - | w11

@ | TegrFmT | () |faregiam

o) |7t ) ST 1 Azeree &

© |Frdsiea |G "ﬁsﬂz'iamq@"ﬁ

MNERLERRE e

O EEEE | 4 vty

e fed T foaehedt § @ w@ 3¢ 7w
(@ () @ @

@M G 6O v @)

@ v @) 6@ G

@ @ Gy G (i1i)

@ @ ) ) (iv)

160. W= et ¥ sryerm 1 wfpa & N,

ICTRSI-I11 %1 viferehr a3 7

(1) mRNA % yearfl %1 sryeifiaq o &

@) snRNAs %! $eifigd i &

@) %RNA (288, 188 311 5.85) # TG

4)

tRNA, 55 rRNA iR snRNA =) ITifEd e
€

36

\

. Match List - I with List - II. o
X List - I List - II
.. |Proteins are
|l ® synthesized
(b) |G2 phase ) |Inactive phase
" |Interval betweerll .
(c) |Quiescent stage | (iii) |mitosis and imt_latlon
of DNA replication
(d)|G1 phase ¥iv) [DNA replication
Choose the correct answer from the options given
below.

@ @ @6
® @ @ © @
@e@® G @ o

148 Which of the followi'ng statements i

(1) ATPis synthesized through complex V.

@) Oxidation-reduction reactions produce
proton gradient in respiration.

3)  During aerobic respiration, role of oXygenis

limited to the termina] stage. ,

mo ecule of NADH glves 1e 0
2ATP molecules, and one FADH, gives rise
t0 3 ATP molecules. -5 :

/ Match Column - I with Column - IT.

Column - | Column - I1
(a) | Nitrococcus /) |Denitrification
' B
) |RRizobinm / (i) Conversion of

ammonia to nitrite

. o S e Conversion of nitrite
(¢)| Thiobacillus (111) ks
Conversion of
(d) [Nitrobacter @v)

atmospheric nitrogen
to ammonia

answer from optiong given

Choose the correct

below.

@ () (© @
@D G @) v) (i)
@ Gv) (i) @ q

@ @) Gy

. What is the role of RNA polymerage IIT in the

Process of transcription in eukaryotes 2"
(1) Transcribes precursor of mRNA
() Transcribes only snRNAs

(3)  Transcribes rRNAs (288, 18S and 5.83)
“ M
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AT - A (SHraferg | Whinfegr o
Section - A (Biology : Zoology)
defenett wermfere e o @
(bl iy ‘ 4
et ¥ v for Ty mmgﬂlﬁnm 161) Chronic auto immune disorder ffecting neuro
RCRIGR G S e ¥ . ELE LL| y @) m"uuculﬂrjunction_]_?ﬁ‘li.'_’é',.t().f,_at’guc' wk -
(1) mm / tal muscle is ca A5
2 e
@) wfiroe Gout
mgw (3)  Arthritis
® @f  Muscular dystrophy ~~
162 I I H m | 4_162. Identify the M‘gﬂ_{?mr-
(1) AfeRs . Concanavalin A
: - ﬁﬁﬁr—{mﬁm A /7 (1) Lectins of gl oncan
® 3 R Ricin
@) THAEE . 3  Alkaloids Codeine
4  Toxin Abrin
4) fow T
168. Which stage of meiotic prophaa_e_ahnﬂ&. ahos
168, TR Yerfereen = |t W #t fafyre wem terminalisation of chiasmata as its distinctive
1 Il e ®? feature ?
(1)  UrfasRg Diakinesis
2 g (2) Pachytene
7 (3) Leptotene
3 (D) Leptotene
) (4)  Zygotene
164. Veneral diseases can spread through: —
154, st A fepren B HERd B €2 7 (@ Usingsterile needles
(@) JMRfEa Al & 3w | / M Transfusion of blood from infected person
(b) g =faq & =g TG | (¢0  Infected mother to foetus”™
(©  Hoh(Hd I § yor § @ Kissing
@ F=EI9 (e  Inheritance
(e) HIMa Choose the correctanswer from the options given
= foeedl @ W S =1 =99 w‘ ,
M) FEE )T (o) i
@) Fad (a)TE © Y] (a)and(c) only
: ~& (a), (b)and (c) only
(3 *ad (a), (b) T (c) \/(4‘)‘ (b), (c) and (d) onl
@ FEE0), (T @) s ;
; : , -, Which is the “Only enzyme” that has “Capabilitv”
155. anrﬂﬂm.aﬁ HTTE WihAT H FH T USTEH T, _tocatalyse Initiation, Elongation ar?j T?u“s: ation
SefferTo WE AT F IR FAE? _in the process of transcription in prokaryotes 2
1 B RS g DNA Ligase :
DNase
@ S
3
@) 9@ TR AR E T T gl _ D et NA polymerase
@) €T TR [ R T T e T erase
3 - Sphincter of oddi ig :
156. 3T STaferR el Sufeerd gl ¢ 2 _— }Ilaresen_t.'cl&-__.
: OPhageal junction
(1) W-m iy @ Junction of jejunum d
@ s UE T |iH (3)_Tleo-caccal junct; and duodenum ¥
3) EEIER: I “Junction of B 10 S
(4)  =Pa ST afe o Tevi |y & duodenum - —
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157.

158.

159.

160.

161.

162.

[Hlnal...im
167. Succus entericus i8 referred to as
(1)  Gastricjuice
(2) Chyme
(8)  Pancreaticjuice

168. Erythropoietin hormgone which stimulates R.B.C,

R o

formation is produced by.:

(1)

()
()

1569. The centriole undergoes duplication during :

@)

The cells of bone marrow

Alpha cells of pancreas

The cells of rostral adenohypophysis

Metaphase

,(‘6, S-phase

@)

Prophase

160. Match the following :

List -1

List - II

(a)

Physalia "\

@)

Pearl oyster ;

(b)

Limulus  \4

(ii)

Portuguese Man of War

(c)

Ancylostoma

(iii)

Living fossil

()

Pinctada

+| (iv)

Hookworm

Choose the correct answer from the options given

below.

@
.3
@

161. If Adenine makes 30% of the DNA molecule, what
will be the percentage of Thymine, Guanine and

(@ (b) (¢ ()
(i)
(i1)
(iv)

(iv)
(iii)
@)

(i) (1)
@ @Gv)
(i) (1)

Cytosine in it ?

38

TFHY Uy &7 el
1) TRWH
(2 FEHY
(@) AV ™Y
@ ATWY
SR et i el =, 3 formion 01 A
€ IHH! I D2
M) Hfeer mrowm it wfirnd
) T F TFRRIARNER FIHT
@) ITE Y o-FIfET
@ TR R @ F i
TFHR o fEfera g ¥ 2
(1) T
@)  GyuEEq
3  S-wEeEqn
@ gaEEn
et - 1 F g - 11 % 91 fee &1

Tt - 1 Tl - 11
() |wEdfer  |G) |[gwmfa
(b) | fergera (i) [gemelt g Ama
(c) | TarEemr | (i) [Sffea framem
(@) | fgerer (iv) | S
= fawet 9 3fea s 977 #:4|

(@ b @© @
D @ @ G @
2 O Gv G@ @
@ @ G @ G
@ Gv) @O @) @)
Ifz uF € A T v § USHA F A 30% § 0@
YIgHH, T U8 FEeEE fHhar gfav 2 2
(1) T:30;G:20;C:20 = QO¢
@ T:20;G:25;C:25 K
@ T:.20.G:30:C:20 \ = 30
4 T:20;G:20;C:30
FeATFE F YAF FHIUEH T 8 THA (2n) T €
fe ot Ao it Sierrad] #1 G, Jren oA
1 T 8 & qd S-TEE] % Ag VA 1 HEA F#1
2t ?
()"
@ 32
@ 8
4 16

2)
()
@

162. The fruit fly has 8 chromosomes (2n) in eachcell, —
During interphase of Mitosis if the number of —
“chromosomes at G, phase is 8, what would he the—
number of chromosomes after S phase ?

(1)
2)

D208 G265 G /26
Te205:G* 301 G :'20
T:20;:G:20;:C:30

1
32

)

16
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164

165.

166.

168.

169.

. T T}
(1) RBCﬁQeﬁ-AQa@B FEE?
B R 2 ety 3
@) wﬁﬁa.A@@B
" R 31 oy
8) .

(1) e JEg, GEwiE, TeEEn ve ey

@ TSt §fmg, sade s, g
GpECap]

() A SMfer, GaHioe, TZary ud

(@) FHaged Sifae, Test wfing, TaAEE
YT

ferelt T % Wyt ST & forw w5 aifi frem

T - fohe o o1 Ee g weeyui & 1 fe

HA G e fem d@e Srfid Tear & fou

Tga I9ErT 2 2

(1)  ELISA @&

@ R dEAE

@ o wfen aFAw

4) e sfen qewHlE

ﬁqﬁmmmimfemmmwt?
faraifem 1 w5 § gER H

8 - T i A A G F

@) e I A H GHR B

(4) T Y wfea H R H

04

163, Persons with ‘AB’ blood group are called as -
“Universal recipients”. This is due to :

1) Presence of antibodies, anti-A and anti-B,
on RBCs

plasma

)  Absence of antigens A and B on the surface
of RBCs

) Absence of antigens A and B in plasma

B St (Oy) WS #rty | 164 The partial pressures (in ?ﬂiﬂ&%‘lﬁ’ﬂl‘p 2
g :3“3'\‘“33 T S T (mm Hg %) gy and carbon dioxide (CO,)GE alveoli the site of
| diffusion) are :

D 0, =95WpC0, = 49 —( pO, =95 and pCO, =40
2) POy = 159'®p002=0.3 2
3 pOy=104 qaipcoz= 40 2
@) p02=401{3ip002= 45 ! ‘ : l

L " ; 165. Receptors for sperm binding in mammals are
RT3 ST, 57 35 ) et R E? ' A 40
1 oidas IHN \W A—b “3 \— V) (1) rivitelline space } o =
@ S 1 l‘o L‘S‘ L‘T _&% ﬁ" Crnaa ata ;g /C
3) aﬁm‘f@a E 104 (4)  Vitelline membrane =5
“ ﬁﬂﬂ?ﬁ'@lv_vﬁ 166. Which one of the following is an example of

. ; ing ITUD ?
ﬁw%ﬁw‘aﬁhmaﬁaﬁmm%? g)ﬂm%l: ;eleasmg
I Cu? % (2)  Multiload 375
@ AE 375 oY
3) CuT e b
4 LNG20 167. The organelles that are included in the
; . endomembrane system are :-
. Sia:fafeer o5 & %7 4 Fifvem gfinfen 20 82

(1)  Golgicomplex, Mitochondria, Ribosomes and
Lysosomes

2  Golgi complex, Endoplasmic reticulum,
Mitochondria and Lysosomes

(3)  Endoplasmic reticulum, Mitochondria,
osomes and Lysosomes

ysosomes and Vacuoles

| TN

For effective treatment of the disease, early
diagnosis and understanding its pathophysiology
1 very important, Which of the following

molecular diagnostic techniques is very useful for
early detection ? = =t

) T.ISA )

Hybridization Tecmique 4

(3)  Western Bl[<)—t€ing Technique *
(4)  Southern Blotting Technique
Which of the foll
Biofortification in crops ?

(1)  Improve vitamin content
)  Improve micro

169,

Wing is not an objective of

nutrient g
ein content

nd mineral content

Pro ”Y‘°

&13)
0L
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170. |t - 1 F1 g - 11 F 914 foerm #41 | 170. Match List - I with List - I1.
g - 1 gHr - 11 List -1 List - 11
- 7 ; () |Acetic Acid |
(@) | bepfierg T Q) [ofifrs (a)|Aspergillus niger
b) l - i) (b)|Acetobacter aceti (i) |Lactic Acid
, ki il ) [ S © |Clostridinm butylicum Wiii) | Citric Acid
© | wiifETm spraferry (i) |fafzF 7 (@| Lactobacillus (v) |Butyric Acid
A | Hrdfaerg () \efofra Choose the correct answer from the options given
= famredl & afem 300 1 = 790 - pERw;
@ b)) © @@ (a) (b) (o @)
O @ @ 6 G M G G 6
@ (v G 6 (G 2 Gv) G) 6 Gi)
@ G 6 G a6
@ O G) G Gy @ G G Gy )

171 ;T;mmﬁmaﬁu’mimﬁ%:mmaﬁm 171. Dobson units are used to measure thickness of :

o AEH A2)  Troposphere
. 1, W

2 H9gze 3 ' (3 CFCé

® WHerd « VL |t @ Statosphere

(4 wHHAIEEA '

: ; 172. Which enzyme is responsible for the w
172. 1 1 U=y fferg sl 5 wEim § 9z inactive fibrinogens to fibrins 7

% fom ot 2 (1) Epinephrine
O A P Thrombokinase
@ mﬁ ‘
53) {ﬁilﬁ:? ' 4)  Renin
4)
¥ 173. A specific recognition sequence identified b
173. U= fafwre wz=m sgF4 & vzigfeaus g endonucleases to make cuts at Sp@ms?ﬁnni
:ﬁmqﬁﬁ%mhﬁmm%ﬁqmm within the DNA is- ol
3] FA % 7
(1) mm AJFH (2) Poly(A) tail sequences
2 d9g () =27 S3%4 (3)  Degenerate primer sequence
8; HAugfea e A7FH (4)  Okazaki sequences
S0 3 e § 2 fame #1997 174. With regard to insulin choose orrect options.
(sag) g X # e 7 A 4  C-peptide is not present in mature insulin.
oftaea gin I ; o (b) , The insulin produced by rDNA technolo
®) ;ﬂﬁ@%ﬁ?ﬁ?ﬁﬁmmﬁﬂ X e \_Y’ chnology
--Q ZI. e M ra o)  The pro-insulin has C-peptid: ]

(c) W 5@““ I ZIE. ; ~()  A-peptide and B-peptide of insulin are
@ zga'h F U-J2EE U5 %ﬁelsz BEHTHIES interconnected by disulphide bridges.

i e} gr aEfE 2 A | Choose the correct answer from the options given
3 few ) farehedi & @ Sferm 3 F1 =9 F| below.
1 FFE (@), ()T @)
@ a9 (a)TE d) (2) (a)and (d)only
@ Faa®b) T @) 3 . (b)and (d) only

@ FaAD) T (©) (4) x(b)and (c) only
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179.

fj mi?l'-hl

D TR o v
(?,) ﬁﬁ’ﬁﬁm@gﬁmmmmgl
i N T I 35 M v e o |

T 7 B 3 : S
(4)

3 T T 0 S T o 4 e 8

ﬁq s N S
ﬂwm?wﬁﬁwaﬂwﬁaﬁmm

(1) RIS 3 e oo siefife fes g
@) 3 vl o e w9 s oo 2 2
(3) O enfed A

@ A s IR At ¥

@—Iﬁ@-ll%maﬁamm|
et - 1 et - 11

. |TyferE e | ¥ %
W O i = 7 ¥
(b) |28 g = (i) |yphaTes 1 g
YhaEH Ty | YIS

(ii1)

R ERL
feraarfel Afcral &

B2
ﬁﬂﬁm@ﬁ@uﬂmaﬂwwﬁl
@ (b @ (d)

a @ @ @) @)

© |5
@ |Afea 3= |1@w)

@ (@) (@) (iv) (11)
@3 @) G @ (1‘11)
@ 0 Gi)y @ V)
we sl s aﬁf;ﬂ?mﬁ =1 fapamn wfaerd

foarrt & % 4T

1 26%
@  100% Hﬁ\-\ 2y ; by §
(3) 50%
@ 75%

41

04
During the process of gene amplification using

LCR, if very high temperéature is not maintained
in thq be zinning, then which of the following steps
(3”7’2',]( will be affected first.?

B Denaturation

(2)  Ligation

175,

(3)  Annealing
(4)  Extension

176,

Which of the following characteristics is incorrect

with respect to cockroach ?

(1) Infemales, 7th.9th sterna together form a
genital pouch.

(2) 10th abdominal segment in both sexes. bears
a pair of anal cerci.

(3) A ring of gastric caeca is present at the
junction of midgut and hind gut.

(4)  Hypopharynx lies within the cavity enclosed
by the mouth parts.

177. Which of the following statements wrongly

represents the nature "’fﬁw?
Communication among the cells is
performed by intercalated discs

(2) These muscles are present in the wall of
blood vessels

(3)  These muscle have no striations

(4)  They are involuntary muscles

178. Match List - I with List - I1.

List - I List - 11
Entry of sperm through

Cervix 1s blocked

(a) |Vaults — ()

(b) [TUDs (1) |Removal of Vas deferens-

Phagocytosis of sperms

o [Vase i) [Phae :
(c)/| Vasectomy:| (i) within the Uterus

(d) | Tubectomy |(iv) [Removal of fallopian tube

Choose the correct answer from the options given
below.

@ (® @@ @

n @ Gy @) @
2 @) @O a9y @
@ @Gy @ O (111)
y @) () Gv)

179. In a cross between a male and female, both
heterozygous for sickle cell anaemia gene, what
percentage of the progeny will be (ﬁgg;.x_edl

iy 26% e ,
@  100% »tti S
@)  50%
4 1
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180.

181.

182.

183.

184.

185.

0 )
=1 T %1 9@ |
(@) SR FHigar & g |
(b)  ThREArEH frTE v T o 3
() TeTHE] # HTSH 1 T # aF el |
@ mﬁmﬁuﬁfmu@mﬁwﬁm
|
() el Hogd &1 UFTeAIeH #1 faferear gt €1
ﬁmfaamﬁﬁafaammwwm
@ (a), () TH (e) T ¥
@ (b), (c)TF (e) T ¥
B) (o), (d) T (e) WA E |
@ (a), (b) Td (c) W& ¥
=1 4 21 afewed 3o § s @2
(1) foe=g
2 wHaE
@) T
@ fz
= 9 9 gvemy ¥ fau #1791 RNA Evas

T 2

(1) rRNA

(2) siRNA

(3> mRNA

(49 tRNA /
P11 i S 3 et et et o e
¥

1)  HFeg

(2 FGIRFET

@)  FHEET

(4) EHIEREETH

T - 1 F1 gt - 11 % 91 e 3

Tt - 1 T - 11

(a) |foE=Ez () |

() |E-53 (i) |ZHRm

(c) |Fa dfga (iii) [AfereT

(d) |Z=1 =g (iv) |

= famen 4 A 3fad 307 &1 994 &4 |
(@ () (@ @

1) G Gv) G )

@ Gy 0 ) (i)

3 Gv) @) 6 @)

@ Gi) Gv) @O @)

Wsﬁﬁdﬂﬁﬁ’ﬁrﬁ?mﬁﬁmw
ofifeafadi =1 =94 F |

(1) 3= pOy, T pCO,, f H*, S&THT 3o
qIEE
@) ﬁ‘;{poz,ﬁquOZ, A H*, STH8I 354
A
@) F=HPO,, FEPCO,, FEH+, st FH dHH
4 fEp0,, I pCO,, iftek H +, s 3=
CoamE

2

J
¥ o % ‘5" "
" Wy

f’, %, ) 0&4?’3 =

180. Read the following statements.

(a) Metagenesisis observed in Helminths
B Echinoderms are triploblastic and coelomate

animals. RS '

(¢ Round worms have organ-system level of
body organization.

d)  Comb plates present in ctenophores help in
digestion. o

() Water vascular system is characteristic of
Echinoderms. ‘ ;

Choose the correct answer from the options given

below. °

ll' i iail idi and iei are correct
' c), nd (e) are corre
(4)  (a), (b) and (c) are correct

e : ; :
181. Which one of the following belongs to the family
Musgcidae ? '

‘jl iin'e gy

(4)  Grasshopper ;
182. Which of the following RNAs is not required for

the synthesis of E_l;_();@’_jn;_,

(4) tRNA
183. Which one of the following organisms bears hollow

andg%Wnsf&mﬂ

oY) acropus
emiaactyius

184. Match List - I with List - IT.

List -1

Metamerism ™ | (1)

@)

List -1I
Coelenterata
Ctenophora

(a)
(b)

Canal system
(c) |[Comb plates iii) |Annelida
(d) |Cnidoblasts (iv) |Porifera

Choose the correct answer from the options given

below.
@ b © @
v Gi) () @) )

@ G O @ G

)
(3i iwi imi ixi ll.
186, Select the favourable conditions required for the

formation of oxyhaemoglobin gt the alyeali—

(1)  High pO,, high pCO,, less H*, higher
temperature

(2) Low pO,, low pCO,, more H*, higher
temperature

@  Low pOy, high pCO,, more H*, higher

temperature
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G-Engish]
- B (mﬁm:mﬁaﬁ)

oo, TR T - 11 % 51 fore

43

TR / Histones is ywrong 2
37. e oA g d R T sy a8 ? (1) - Histones are rich in amino acids - Lysine
i . ) and Arginine.
@ gﬁégf T wRfad ISRk ﬁ{‘ﬁ"‘ﬁ I T Histones carry positive charge in the side
| chain.
2 fe2= =it g mﬁ TS A BT R | (3) . Histones are organized to form a unit of
8 molecules.
(6)) %3@_" Hrfad 2 8 A F1 TH FhrE T The pH of histones is slightly acidic.
|
} 5 Identxfy the types of cell Junctlons that help togtop_
@ fed =i pH fepfera et ~ leaka e of the substances across a tissue and
facﬂltatlon of communication with neighbouring
88. o GfeEi ﬁmﬁmﬁﬁmém cWaﬁons and molecules.
fraem g i & od S Td AU o qid TR @) Adhering junctions and Tight junctions,
| qerEl Fifored & 7 T Zo1qd A ¢ - respectively.
1) a9l mﬁafaqaqzvﬁz (2 Adhering junctions and Gap junctions,
A A s 2 tively.
! i & respec
@2 I 3|.I i ; .Q:a. A _Br Gap junctions and Adhering junctions,
®) HHY: Ffauet 9f4 @ A JH respectively
4)  FEE —qg'g‘ﬁq e ST 99 & _ t"»"vf ‘c_hona’?i’nd Gap junctions,
respec wvely.
g9, for= ® @ Heega AgeAd Q! FEE T )Ahxch of the following is not a step in Multiple
(MOET) 'Q;Tfa'{‘m‘ﬂﬁ%7 ¢ Ovulation Embryo Transfer Technology
a e e e o € ok
) ; ] S 3 yfafrgE (1) Cowisfertilized by artificial insemination
(o frafem oS 8-32 @2  Fertilized eggs ar
; . o = 1 ggs are transferred to surrogate
el - | '{ﬂﬁlﬁﬁa mothers at 8-32 ¢
i it forer i ell stage
: Serege " Cow is administered ho
@ TEHEIHA 2l istered I ormone having LH
e @ e S like activity for super ovulation
g 3% I Hl i 4)  Cow yields about 6-8 eggs at a time

et - 1 e S L |
(@) |t = faw | ) W%
o bl = e
i i () [¥rerelt fopvanet
(c) giilicy o]
Bk (i) [T 3 o e
@ [T 2
g | [T
A= TR0 T fowedi @ <hem s 1 T w00

@ ® © @
@O @ @ @) (i)
@ @ @ @ o
@ G @ @ o

‘\/v(a)
Physiological (ii) |Desert lizard

@ s A A T

04
Section - B (Biology : Zoology)

L)ﬂdatch List - I with List - IL.

List -1 List - II i)
Allen's Rule | (i) |Kangaroo rat

(b) adaptation

(c) Behavngural (iii) [Marine fish at depth
radaptation

@ BlOChC”?‘C"‘] (iv) |Polar seal
adaptation =

Choose the correct answer from the options given

below.

\’ﬂ/(a) (b) (© @

) o) O <nl (iii) €
_A2) ( Gv) (@) @ @

®3) (1v) G @) @
4) ‘(W) @ @) ()

187.\ Which one of the following statements about
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g @"IWW-II%muﬁamﬂl

b et - 11 et -] 1
et [0 RIS e SHRIQSH (a) [Filariastey | O in‘;;’::f::"" 35
%= v ) |erroreery (b) [Amoebiasis\ | () [Trichophyton
‘(‘“\ ) ﬁﬁ'ﬂlm (c) Pneumonia\ 1) | Wuchererig
i_ﬁrrad\ V) | geamiar fewaifafea (d) |Ringworm  |(iv) |Entamoeba hlstii =
i ol 'Qﬁa I FHTIIT FY | t()3}ioose the correct answer from the —~
(a) elow. st
2 0w O D @ & © @
® @ @) ¢ g G 6 @ v @)
® ® 0 6 o @ @ G 6 @ |
@ @ & ¢ @ @ _Gv) @) (i) @) e
191. Tofve ¥ gsfug A* s
@ ] ﬁﬁg?ﬁﬁgq%%;mq o 1 ‘]izlilgging aré the statements with I'Q e
ST 91 37 e £ S@l Lipidshayingonlig: aEe
E mﬁﬁg g0 le b are eall.
I o jﬁm%:;mmﬁqﬁam%' vecs* unsaturated fafly foide s re gl
: i G cithin is a phospholipid. XA
@ Wiwies st ¥ w1 ate ~)  Trihydroxy propane is glycerol,
20 FET & TRH R E @  Palmiticacid has 20 carbon atoms;
© RS s d 16 3y a Carboxylcarbon:
e Esia o e ——— ﬁw” TRAR 81 Arachidonic acid has 16 carbon
D @) wE (o j Choose the correct answer from the op
2 %aa(b)@(e) ‘
® Fag (a) T and (e
S C) an ) only
192, Al & 39 qafy o R
m:_;—m +> =t ¥ & Rt B vy | 192 W}nch .ocf the following secretes the
7 £ : . |
(l) W ﬁoe&ng the later hase Ofpre na
- @ Tviyg terus ‘
3 :
@ TE g Haﬁan fi”mi
2 3. Match List - I
L 2 1st -1 with List - IT.
193. FE -1 =G - 11 % 71 frem B\ iy
g - 1 et - 11 B Selection of
0 e 081 =
IEART T Fremit ® lradintion | @ [Y2ricts AU
(a) |ST3Fa fafewr| 6) (& St sdm | usetf)f':erblg
Rt fore L Comoo——{—{Pesticides e
g levoluting | [Bones of forsimbs
(b) | e famm | i) :gw m = T and Whale
(©) |t fome | i [forett o vt 5 v Bvalvii
& ;ﬁmm () [Tl 1 fib ® |gnthrop,
BN fawmg enic action
T foehedl & o v 1 e 501
@ () © @
@M @ @ (v) (i) ,
@ O G @) G e
@ (v @) GG
@) (iv)

G Q) @)

a4
r\so./Match List - I with List - IL.
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.VEnghsh]

o1 TR - IHgER - 11 %
e foems a5y 45
et - '
I . M 04
(a) [Ehgem et - 11 . Match List - I with List - IT
Q) [suwfey List - :
(0 B 7 IR g (a)[S e Le- o |
(11) m Capula -y-xl) C . - —
@[S . b Al S Cginols JO e
d) | =R = (i) ¥t g (c)|Ste ) les bene
= i (iv) : @V L M| (iii) |[Fibrous joints Fy
forehedi & § fam PR =t sifey 5 en:bral coldmn iv) | Triangular flat bone
1) (@ (b) (C)W(:ﬂ EREE Tl low. the correct answer fom the options 6"
v) @ 3 ) .
@ @ 2‘,:1, i) W O
® 0 @ o |
@ (@ 0 n)  (@iv) 1 TV
o @ G G G) (i), @V i
@ )
195. YT (A 19 @)
): N9 TE R = m ; . ﬁsserti()n (A)
a-g : T SArdn - pﬁrson go t hi ’
mﬁtlgl E?m F T Y 1Y _gﬁa; g{li%tl&clle siclf:es(;’ w?&gg::g:;: lciikexl]): eriences
‘ fni e :
AT (R) Easid T F USH T Heqd —feacségy fl?)d'hean vt i
. I=94 D : ]
W%mwﬁq alﬂq'g'eﬁ'qmg‘-m thteb?gyozﬁ(g%%%mmgmﬂtude
39 YA & '."iq' S et et In the light of the t sufficient oxygen. — :
EREE T v H e o § 4wt Wmly Zorrect answer fro“}i"iii e e choose the
B )T T (ki truc but (B) s false Setow.
o M d is falge but (R) s true
3) él:ﬂ (A) .qa- ®) %W % | 4 correct explanation o
= 2 T (R), (A) F 3 ) Both (A) and (R) are true but (R) i
@ 2 (A) @ correct explanation of e but (R) is not the
T§ (R) 93 & Al 196. St B
3feq =aven 7@ B (R), (&) FI S o 5
co $ y
196, FEAI: TEAUG . = on ‘AUG’ codes for methionine and
F1 ? W e %I I @W—mﬁq lStatement I1: i
wgq1l: ‘AAA’ -qa' AAG a-’!h o ‘;i‘t:—%, and_‘A_é,G, both codons code for th
: A F1 F2 AT ! 37 T tﬁy*""“sme Scodansicode fox (e gmino
Wa‘ﬂm % SR m%f—;q ﬁ%ﬁg J{Tﬁ c’;rrzﬁil;tsgfetrh;oﬁ%e statements, choose th
| I H (1) Stat - e Options giv 4 S » e
1 wEI e = fal:;nent I is correct but Stearizxe:&:‘t I
et et @ Blatoment 1 i incomet bt
@) =H wgA 1 vE wA 156 ¥) 3 atement L1 1s tru
4 ZEimEFAI 11541 2| )  Both Statement I e
1 . 1 7 %4 11 7T € @ Bot and Statement IT are
97. ?:)ﬁ g'H’ ;m oA 2l % 7 21(1);2 Statement I and Statem
AAAE 197. . ent Il are
o e During musculas contraciion which
e e events occur. ich of
@ @fE ATP aﬁﬁf% Eﬁ; A lfonﬁdi‘-‘“p""“"s : g
1 5 FAE #UADP T i G
@ TfEA | ot d  Myosi uces in width
T 7 : g s W o W ©) nd Pi hydrolyzes ATP, releasing the AD
@ Z- ’ e £ l.)
o Forered & WY I A A | @ Zlinesattached toactinaar
the co ns are pul :
(1) FaA (b), (c), @), (€ below, porrect answer from thgu 1({(‘ inwards
(2) Fad (b), (d), (e), (a) 1) (b)), options given
@ FE @, 0@, : R
et (), (0), ©), @) ;
c),

@
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198. th%‘dﬂaMﬁmWhlg. ‘N
@ T R TR FFE F R :
(b) ‘i’;ﬂqﬁw‘{;ﬁﬁ@aﬁﬂﬂ«h T
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